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1. Introduction _

The Auroral Electrojet index (AE) was originally introduced by Davis and
Sugiura in 1966 as a measure of global electrojet aétivity in the auroral zomne,
and it is now widely used for studying geomagnetism, aeronomy and solar-terres-
trial physiecs. The index was first derived at the Geophysical Institute of
the University of Alaska, and hourly values were published for the years 1957
to 1964, The production of 2.5 min values was then tried at the Goddard Space
Flight Center of NASA, and the results from September 1964 to June 1968 were
published.

After that, the index was regularly published at the World Data Center A
in Boulder, Colorado, and the Center published 2.5-min values for the years
1966 to 1974 and 1.0-min values for 1975 and a half of 1976. Because of man-
power and other reasons, it became difficult to continue the production of the
AE index at the WDC-A, and it was requested that the index be produced at the
WDC-C2 for Geomagnetism in Kyoto. Upon such a request we discussed the possi-

bility and agreed to cooperate in producing the index during the IMS at least.

2. Derivation and Representation

The AE index is derived from the horizontal component of geomagnetic var—
iarions observed at some (10-13) observatories along the aurocral zone in the
northern hemisphere. To normalize the data from each station, a base value of
each station for each month is first calculated by averaging all the data of
the station on the five international quiet days, and this base wvalue is sub-
tracted from every-day data of the station in that month. Then the largest
and smallest values are selected from all the stations. The largest value is
called the AU index and the smallest value is called the AL index. These
names came from the upper and lower envelopes of the overlapped figure of the
data from these stations. The difference between the AU and AL indices gives
the AE index, and the mean value of the AU and AL indices gives the A0 index.
The term "AE indices" is usually used to describe those four indices (AU, AL,

AE and A0) in all.



The AU and AL indices are understood to express the strongest current den-—
sity of the eastward and westward auroral electrojet, respectively. The AE
index is understood to represent the overall activity of the electrojets, and
the A0 index is regarded as a measure of the equivalent zonal current.

In this report we shall present every-day diagrams and houly wvalues of the
AE indices and also a trial plot named "contributing stations plot" of the AE
indices which may give more information about the indices. That is, we named
the stations which give the AU and AL indices "the contributing stations of the
AU and the'AL index, respectively, and a pair of these AU and AL contributing
stations '"the contributing stations of AE indices'. The plot gives these AE -
contributing stations on a plane whose coordinates are UT in abscissa and LT
in ordinate at the stations. For users who want to check the AE indices pre-
cisely, thié plot gives an information about data availability of each station.
Thus the plot will give us an idea which data are to be checked. For these
users, we would like to suggest to check our way of derivation of the AE in-

dices and our estimation of errors.

3. Selection of Observatories

To obtain good AE indices, we must use as many observatories as possible,
but we meet two big difficulties: One .is that the distribution of active ob-
servatories are not uniform over the auroral zone, and the other is that the
digitization of analogue data (magnetograms) is a heavy job.

We selected 12 observatories listed in Table 1, Of these, only 5 stations
are taking digital data directly (called digital stations). Our selection is
almost the same as that of the WDC-A. (see Fig. 1)

Three of the stations (Fortchurchill, Great Whale River, and Yellowknife)
are the digital stations which give data in the X, Y, Z coordinate system. To
make these data more compatible to other stations, we converted the X and Y
components to H component by H=(X2+Y2)1/2, and we treated the resulted H com—
ponent to be missing for the period either X or Y is missing. For other two
digital stations (Barrow and College), we used the original digital H-component
data. However, the digital data from College were missing from January to March

1978, so we digitized College analogue data in this period.-
4, Digitizing Machine
OQur digitizing machine is made of a semi-automatic sonic digitizer, a large

gize microfilm reader and a mini computer system.



Table 1. List of AE(12) statioms.

Observatory Abbreviations | Geographic Geomagnetic
IAGA WDC-A | Lat. (°N) Lomg.(°E){Lat. (°N) Long.(°E)

Abisko ABE AT 68.36 18.82 66.04 115.08
Dixon Island DIK DI 73.55 - 80,57 63.02 161.57
Cape Chelyuskin ccs  cC 77.72 104.28  |66.26 176.46
Tixie Bay TIK TI 71.58 129.00 60.44 191.41
Cape Wellen CWE TUE 66.17 190.17 61.79 237.10
Barrow BRW  BW 71.30 203,25 68.54 2641.15
College | a0 o 64.87 212.17 64.63 256.52
Yellowknife YKC  YEK 62.40 245.60 69.00 292.80
Fort Churchill FCC.  FC 58.80 265.90 68.70 322,77
Great Whale River GWC GWR 55.27 282.22 66,58 347.36
Narssarssuaq . NAQ WAS 61.20 314,16 71.21 36.79
Leirvogur LRV IR 64.18 338.130 70.22 71.04

Fig. 1. Distribution of AE(12)} statioms.

Geographic latitude is indicated by the concentric circles of solid
Tines. Geomagnetic latitude is indicated by the numbered concentric
circles formed by + signs. Geographic loagitude is given by the
outer circle of numerical values with meridians shown as solid Jines
every 300, Geomagnetic longitude is given by the inner circle of

" aumbers and the border of hash-marks at 100 intervals.




The sonic digitizer has a pointing pen and two microphone arrays. The pen
emits a small sonic pulse from a small electric spark at the top of it. The
position of the pen is detected by time lags between the spark and signals re-
ceived by the microphone arrays. One of the microphone arrays is placed on
the upper side of a microfilm reader and detects Y position of the pen, and
another array is placed on the.left-side of the reader and detects X position
of the pen. -

The operator traces the projected figure (magnetogram} on the screen of
the microfilm reader. The effective size of the screen is about 60 cm in width
and about 40 cm in hedight. This screen is divided inte 4000 x 3000 digital
points. The emitting speed of the sparks can be controlled either by the com-
puter or by the operator. Although the emitting speed can be as fast as 100
points per second, available speed is limited to 20 points per second, because

of the speed of the CPU of computer and the recording media.

5. Digitization of Analogue Data

The magnetogram on 35 mm microfilm is projected directly on ocur microfilm
reader. The projected figure is almost the same size as the original magneto-
gram whose size is about 2 cm/hour or 48 cm/day.

Usually, the magnetograms are digitized day by day. When the time marks
on the magnetogram are not spaced uniformely or base lines are not straight
enough, one magnetogram is divided into several uniform parts and then digit-
ized. We used the ordinary magnetogram for all days. When the H trace crosses
other traces, we tried to identify the H trace by referring the insensitive or
storm magnetogram., When we trace.the H component on magnetograms, we also feed
three basic points to define the time and the absolute value of the digitized
data, and feed other necéssary information like the station identification and
observation date.

In digitizing analog data, we could have trouble from the digitizer noise.
To be free from such a noise, we digitized as many points as possible to get
one value. In determining the three basic points we digitized each point more
than 20 times, and we picked the point only when these consecutive 20 readings
are all within a limited area. The traced digital data are logically checked
by a quality centrol program to reject spikes caused by the noise. After clean-
ing by the quality program, the data are averaged to get the final one minute

value. Usually, one-min value is determined from an average of 3 or 4 digital



readings. We checked all the digitized data visually by the plot on a monitor-
ing graphic display at the reading stage and by the finer common scale plot

made by a X-Y plotter after processed by the quality control program.

6. Estimation of Errors

Although we are very careful to read magnetogram, there can be some errors.
Users should be aware of these possible errors.

First, a magnetogram is recorded on a photographic paper, and the record-
ed line is sometimes too wide and sometimes too faint. The wide line causes an
ambiguity of the reading. Error by such a wide line is usually less than 1.5
nT (standard deviation), but in some cases it can be about 5 nT. The faint line
is not readable in a disturbed condition and may cause a missing period or
tracing mistakes whose error cannot be estimated.

Second, when the original magnetograms are photographed on the 35 mm micro-
films, some distortions come about and make the base lines and time marks round
lines. In some stations this may result in errors of about 5 nT and/or 2 min.
Also, when the magnetogram is phbtographed the paper moves or shrinks which
make double images resulting in errors of up to 5 nT and/or 2 min.

Third, though we are very careful to trace the data, it is very difficult
to be free from parallax and to trace the data smoothly. This may cause 5 nT
and/or 2 min errors.

Fourth, when recording the magnetogram, chart speed sometimes fluctuates,
resulting in non~uniform spacing of the time marks. 1In this case we divided
one magnetogram into several parts, but we neglected small changes which cause
a temporal error less than 2 minutes,

Fifth, in calculating a base value for one station every month, we average
the data on 5 quiet days, but the year 1978 was a gquite disturbed year and so
the quiet days contained a number of disturbed periods. This may result in
errors from 1 to 3 nT.

The last most severe problem is the missing data of the contributing
stations. It is suggested to users that if they use the one minute AE value
for precise studies the availability of the possible contributing stations by
the contributing stations plot is checked.

As a whole we estimate that the error in the one-minute AE indices is
about 5 nT to 20 nT in quiet periods. For disturbed periods, however, it is

difficult to estimate the error in the indices, and we will only be able to say



that most of the error are resulted from the error in the time scale (about -
1.5 to 3.0 min).

For the hourly values of AE indices, the rahdom errors are reduced by
l/(60)l/2. However, the base line error and errors caused by the distortion
. of magnetograms are still included in the hourly values. We may estimate that

the total error in the hourly values is in the range between 4 and 15 nT.

7. The Overlapped Plot and the Plot of the Contributing Stations of the AE
Indices.
Fig..2a-shows an eXample of the overlapped plot of the H traces from the
AE stations on April 10, 1978. The upper envelope gives the AU index and the

lower envelope gives the AL index. Figs. 2b and 2¢ show example plots of the

contributing stations for the same day as in Fig. 2a, in the geomagnetic (2b)
and geographic (2c¢) local times, where the upper and lower plumes on a diago-
nal line for each station show the contribution to the AU and AL indices of
this station. In Fig. 2b, for example, the data of Dixon Island (DIK) give
the AU index from 0000 to 0240 UT and again from 1330 to 1530 UT, and the AL
index from 0640 to 0830 UT., It is seen that from 1100 to 1200 UT Leirvogur
(LRV) offers no data. Since this is a key station for the AL index at that
time, the exact Al values at that time have been lost.

We think some explanation are necessary for our trial plots of the con—
tributing stations. On the plots hereafter, the ordinate is the geomagnetic
local time (MLT). The MLT is defined by the difference of the geomagnetic lon-
gitude of the station and the geomagnetic longitude of the Sun, and it is a
- function of the geomagnetic longitude of the station, season, and universal

time. Figs. 3a, 3b, 3c show the difference between the GLT and the MLT of the

stations used to derive AE indices fbr-winter, summer and equinox, respective-
ly; In these figures the GLT is shown by the straight line which runs diago-
nally, and the MLT is shown by the T (or inverted T) shaped mark. The length
of the vertical line between the T (or inverted T) shaped mark and the diago-
nal line is the difference between GLT and MLT.

Note that for some stations the difference between GLT and ‘MLT is as much
as 2 hours. The geomagnetic longitude of Cape Wellen (CWE) and Barrow (BRW)
are very close, and so it is difficult to separate these two sta;ions on the
contributing stations plot. Sometimes,. Cape Wellen gives AU and Barrow gives
AL, and wvice versa. . This is thought to be an effect of local current system

between the high latitude station and the low latitude station.
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ference between the geographic
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ter, summer and equinox, where
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shows the relation between UT
and GLT, and a'-b'-c' {crossing

of the vertical and horizontal

lines) shows the relation between

Fig. 3c Difference between GLT UT and MLT for each of the AE(12)

and MLT in equinox. stations.



When we assume that the observed geomagnetic H component is a result of

a simple combination of some simple curfent systems, this plot of the contri-
buting stations can be regarded as an index of dominant current system at a
certain time, though the current system in the auroral zone is not very simplé,
and users must be very careful to check if local current systems may give a
false impression of different current systems.

<~ Although we have such limitation of the plot of the contributing statioms,
and we need more precise analyses, we can point out some characteristics from
the plot, most of them confirm our previous knowledge.

(1) In quiet periods, the geomagnetic local time of the contributing stations
to the AL index (called here AL time, shortly) is around noon. This is seen
best in equinox. This may come from the low latitude Sq current system or from
the field-aligned current system connected to the cusp region, or from both of
them. |

(2) In disturbed periods, the AL time is between midnight and morning.

{3) In some transition periods between quiet and disturbed states, the AL
time moves gradually from noon to morning. Then, very sharp and short period
AL spikes are seen and the AL time goes pre-midnight. Afterward, the AL time
comes back to early morning.

(4) The geomagnetic local time of the AU contributing station (called AU time)
is confined in ﬁhe evening in disturbed periods. Bgt in quiet periods, the AU
time is distributed widely and it can be seen at midnight or in the morning.

8. Results

Monthly quiet-time H reference values for January-June 1978 are listed in
Table 2, where for four stations only deviations (H0+) from the H base line are
given, because we did not find out any base values. Table 3 gives the hourly
average of AE indices on every day from January to June 1978.

Daily graphs of 1.0-min AE indices (AU,'AL, AE and AQ) are shown in Fig.
4, and corresponding plots of the contributing stations are givenvin Fig. 5.
Finally, Fig. 6 shows the H~traces of magnetograms from AE(12) stations in

every month from January to June 1978.



“Acknowledgments -

The. authors would like to acknowledge the help of Professors T. Nagata,:-
N.. Fukushima.and T. Obayashi in obtaining financial support, and the help of
Ms. Y. Yamamoto in digitizing magnetograms. This work was supported. by the

- Ministry of Education, Science and Culture under grant No. 584050 (1980).

" Table 2.  MONTHLY QUIET-TIME M REFERFNCE VALUES  (UNITS : NT = GAMMAS)

(YEAR 1978)

STATION JAN, FEB. MAR . APR, MAY JUNE
ABISKO 11831 11831 11630 11823 11831 11840
DIXON ISLAND = -370 =373 -368 =382 -3T3 =373 (HO%)
CAPE CHELYUSKIN ' 544 534-' 538 544 552 557 (HO+)
TIXIE BAY 264 266 261 255 263 27T - (HO#)
" CAPE WELLEN 199 - 193 185 190 193 202 - (HO®)
RARROW " 9842 9835  ©oa42 9837 9850 9864
COLLEGE | 13049 13051 130138 13036 13038 13045
YELLOWKNIFE 8722  R722  B7l9 8724 8722 8738
'GREAT wHALE RIVER | 10503 10503 10501 10513 10524 10538
FORT CHURCHILL - | 74a1 7438 ~ 7437 745 78470  Ta8s
NARSSARSSUAG | 12021 13025 12028 12029 12032 12030
LEIRVOGUR 12377 12378 12384 12382 12391 12395

(HN+) : DEVIATION FROM THE H BASE LINE
' - ON THE ORDINARY MAGNETOGRAM



TABLE 3

Hourly average AE indices (AU, AL, AE and AOQO) for

January—June 1978.

—11 —






#0T T4 Ze LG [ le €Y o¢ 16 [44 BY (624 g9 BZT w6 Tel 8L7 94 w6z T2 9%T ivT w01 86 19 NYdW J¢

LT 8T LT 4T i1 & L 6 1T AN | g1 A S A ze gg 92 0 w1 €1 +T. 91 LL BT NY AW D6
Lg 9% 8% 26 2% - v ch Ly €5 S Z¥  9g Z6  I9 we  hi G €E %8 v 29 w9 09 ¥ 0w NV 3w
9¢T L6 Qe 9¢T L2T 06 66T 29T TTZ 291 G6T O€T 86T wel OUZ 86T wgZ 0el €21 &1L #é6 H 99 6k L 59

by g I¢ &% 82 Wz % FA 21 EA ¢TI &4 28 BT LT L6T 482 €98 6Z¢ G651 LL gL 9% ze LT 0t Q
Z5T 02 €¢  wv &9 6§ 02T ZLT 9z 297 €91 #€T 06  6¥Z 92T 12z ¥»eT 462 BHE #HEE <21 ¢5  <# g6 40T 6z 4
Zg S9  TET L&  2¥T 19T €6 g6 €L 0% 1€ s €9  l¢ 1Ie 5T BT Ty 32 1€ T¢ 6 Z1 ¢ gl g2

6¢ z¢ 0z gZ  ¥T TT 8 G ¥ 9 B LT 6T <t ¢k Z€ Ot A S 6 6§ ¥Y 96 G il Lz

6% oy Iz B  Z¢ ge  2€ w1 gl 01 4 4 cg WG ve 99 €6 Bh L9 €% (E 16 LIT 6z €11 9¢

L9 %8 LyT €6 6 19 99 956 B  ¥%  €¢ 98 0T 1b1T T cR 19 94 le 4% T¢ 92 €2 2 42 ¥4

1) g2z LT 4T €2 %2 g€ €07 €%T €9 99 S¢ 9% 6 €6 gOT LS %G LE ‘% GE &Z Te 62 €2 ve

%1 L2 9z gZ w1 1T L & IT €% 91 ST %1 €1 1T 2l T sl 11 21 ot 2T #% 41 g1 £¢ B
9e 61 gT 9T 41 ZT AL A ¢T €z T€  CHv W 87 Ly 0% gy 6% s L sl LT 1< Te oz Z¢ B
€T 6T 91 w1 €T g 9 0T %I %1 91 &1 LT 9T $T . %7 _ ¢T €T €1 ¢l %1 AN 1T 0T T ¢
T4 ZT €T €T o©T Tt 9T IT 91 62 ze & 77 8T c¢ 9 99 gL T L . 4 oT 9 6 et 0z

te *T &2 1€ ¥4 8T 0T &1 #1 oz 2¢ 9z €2 9z €5 9¢ 79 9% GE 08 €9 4G Yp  LE  Z¢ 6T

96 92 6T &1 9T ST €1 1z 9t  bf g8 68 L6 96T e%T €61 %0z w61 98T Z91 €L1 06T 6T1 @9 46 gl

€e €% vz &l <T L L L IT 4T L & 9 < €T gt 8T Zt Lt 4% Cul  LgT w21 wL o 26 LT

68 €0T TET 60T 06T HLT TEZ %2 Tlz 9¢¢ 161 8¢ 66 9z 6T il 9t %2 Te %2 g1 L1 61 g1 6T 91

9T LT ZT T 0T g 6 6 €T & & 6T €8 6t LT 9T Z1 T 01 51 i1 1T 6 gT L ul ®
eT 0T T €T TT 9 G L 9 Y 4 Z G 61 9z 1€ L €4 % LT 4T 6T 92 1€ Le %1 ©
0% S Z8 6%  hg i€ €z ¢z g¢ 92 g €E  T¥ 99 €% ™ Lg LS €2 ¢e £z L€ £¢ 61 6 €T

01 €T €2 L& 6T 0T g T b 9 4 ¢ € ¥ L Z 4 b4 g 0T LT €2 IT 02 02 Z1

T T 2T ¢T ¥ 2T 02 1€ &2 06 Lg w9 STT TL Ty 9% Te zZL  Lg FAS T LT 6t gl €1 1T

Z6 62 99 §6 BIT LL 60T LBT BT #L &2 €1 %1 - lz 09 T6 96 #2T HIT 2¢T &L LTT g0z &gl 1€ 0
06 LYT %0t ¢g¥T 8¢l LET 60T 62T %9 6% Lz ¢z 6¢ ¢l 61 TIT LOT B 9g A €y G% a¢ 19 Le 6
bg 8T 6¢ 6¢ 2T by L2 8¢ 99 €TT 66 B¢ Le T8 9¢ 0g 24 8¢ T€ 24 zL 24 enT LTT &8 g
82 L9 Lg gé LT 14 T 9T 16 8T %1 4T 61 1€ Z¢ TZ €z €T s 1 LA He o¢ c g1 L

9

1L 8% €€ 2L 989 ETT L. €R QU €2 0 vz L < 9T zv  6€ 86 TLT Ted TE€T 24T TST ATT  9¢ a
€0T 6wy 96 lg Gy 6% 0B Ly 9 €T &% 88 21 60T OLT 80Z 9€¢ 98T 2TZ el Vg ®8  &ll &T= ¢« ¢
¢ttt Oz 12- 9% €€1 Oy= gS- ¥RI~ g€~ iy= 62 Y= €L 6TT B8b  Tg€ LSz 6wvE 884 w9z o0& Zge gST Rzl €wl v d
zs ZLT ez g&T LTIT 96 Gy 19 ig  Tvy 0z LT LT LT #T gD 61 6T 91 gl €& gE Sz 4€  O¢ €

T g g¢ 0 eT U1 ¢ g 0T 91 G¢E T¢ Q0 %z e &€ w¢ LE %% 96 GUT ¢e8. g6 ws 99 Z

9% 9L  ZeT GIT 61T 1¥ 2 ¢ LT oz Tg 9z T€ 9% Iz &7 6C T€ 8 yv T¢ o¥ €€ I 1¥ 1
Allva €2 gz T¢ o2 el BT LT 91 ST »T €T gl 1T 01 & 8 L 9 < ¥ £ 4 L o 3ilvae qo

AYYNNYE  gL6T S3IDIUN]  ATHNOW  N¥

—. 13 —



§¢T £e
6¢ #Z
3] 0g
€ET oL
St L2
Ly 2
£Q 13
1€ st
6¢ LT
LTT 96T
¢zt oLl
9Z1T ]
20T 9¢T
al LE
LG 59
§TT #91
8T 9T
g8 502
09 Ltz
L2 bl
€2 €T
Y4 T
gl 19
1T 1L
¢ Ly
Y] 43
SwT 9T
4] €9
L0T 16
gL 09
€8 L6
AIvg ¢¢

L1T
(29

G6

let
G567
€TT

€6t
€T
&¢
el
68T

Z6
0sT
14
£
Z1e

¢
€LT
18
¢6t
al

| ¥4
L8
8¢T
L8
T¢E

£ET
9
99
7l
1%

2z

66
(43

16

11T
o€t
e%T

ATT
gl
92
9L
09¢

c9
66T
ce
8e
161

0z
26
e
9%T
12

gé
0T
HeT
%]
el

86T
[
89
ol
&%

1

AN
174

00T

91T
0971
€81

68
1¢
ST
36
£9¢e

Z%
clz
£9
€2

#GT

Gl
v
Zi
€971
[94

€e
wLT
091
A
§¢¢

(444
67
L
8¢
€t

0¢

€zt
1%

Q0T

a91
114
1A

0g
Ge
4T
o1t
8ee

LeT
€9t
¢

662

1
TeT
€6
i1

e
602
LEAY
bg
oetT

602
2é
Ge
aT
L4

61

92T Lgl
-1 ce
+0T 0T
cyT  wiIt
L9T €711
99T GLT
6T 67
€z LT
IT 2T
Z91 iz
€92 092
Zel " ¢TT
€07  +#¢
9¢ 1w
»T 8
BT H9T
T Z
sz L
LOT  zg
BTT 4y
8T LT
vL gz
Zve  1gE
€8T T¢2
9  wH
92 68T
LT 84T
LT gk
TO0T  €L7
L 9T
T¢  9¢
BT LT
Adynyaad

#9T
0Z

L]
Tal
L9
TA4

T2
(44

‘6T

e
26T

b%
9L
wZ
€e
8o

1~
Og
LE
4%
L1

17
LET
L1z
€C
6

LA
67
76
61
LG

97

66T
(44

Ll

1T
86¢
£0e

¢

€

Lz
0671
T8

1%
éL
0¢&
gy
(34

o
£é
L1
9
LT

T
99T
Y]
g1
g%

g1
6€
601
414
€6

ST

glel

911
61

€L

€071
291
612

X4
82
6T
69
08

26
LAY
9
[ 14
9%

ge
49
(%4
12
al

14
08¢
86
LA
2L

1L
Z9
ZL
9z
0¢T

132
ge

L8

&HT
207
€9

Gt
2w
9
g9
19

Z6T
STT
G4
1T
221

we
gy
LT
T¢
¥T

6T
aLe
L
8T
€%

10T
4
1z¢
6HE
56

¢T

6%
se

Td

1¢
Zel
#el

oy
Gl
Ge
OL
£9

70¢
¥6
oy

11e

84
%1
LT
44
g1

61
66T
€Ut
2y
k4

g1
¢z
gl
151
1L

21

TiT
e

9%

10T
9L
68

Ly
99
&¢
14
7€

whe
¥
9
54
el

14
297
12
114
11

ne
oe
74
Uy
&t

291
49
9¢l
[}
ey

1T

oSt
0¢

6

Lt
06
ey

Z9
Sh
&¢
we
T4

TLT

Gt

€9
LT
TaT

Bl
BHT
av
£C
cE

9T
03:14
89
o¢
LG

6vl
113
2L
TeT
1%

01

gL T
e
(%1

ovl
4
96T

9%
A
8¢
T¢
4

80T
9T
68
ST
LL

€Sy
LE
€€

19

od
(X44
60T
[

el
9%
gL
Zzet
62

£€ST
Le

A4

(A
%4
[4¢]?

L
64
0€
6¢
6¢

#9T
6T
80T
6T
98

(8
90T
L
€%
Le

174
et
9ET
1T
9¢

c0¢
L9
79T
8¢T
©8

&8T
8¢

10T

TeT
3Tt
Gét

8L
42
e
89
by

96
e
L0T
&1
99

buth
og
LL
LE
a€

ot
egT
vel

BG

Syé
3%

LAY
qel
LET

8ee
Be

86

Leé
601
Tal

99

a1

SE

el

TL

0ct
0Tt
2L
Ze
£9

£94
G9
96
7€
A

oL
6L
91
St

9871
£e
Lé
9L
49"

gol 0%l
Le Lz
6 o
€aT %6
€6 98
gLT  T0t
Ly v
(14 Y4
9€ 14
£€9¢ 991
w9 e
geT  Lé
g2t 191
#ZT 96T
WL cel
Tw Le
308 £0¢
ae 6L
S 76
9¢ g
€ ¢e
(4 G€
6% bt
69 Ue
6T 9¢
184 113
gLl 9
1e¢ 9L
&8 b B
LB Ta
90T LG
S L
$3D1UNI

gZT ¢£<T
Le 0¢
LL 98
LT E€T
69 9vT
ceT 61T
0¢ ot
2e 134
£c TE
/0T 96
06 LUT
v ;3N
X GL
ZLT  6T1
O®1 €U
9z LB
€vl  Cel
R (]
98 60T
e Ll
8T Lt
9€ EC
7y (€14
60T 6L
8¢ 19
5¢ gL
[4:] 90T
wHT  9¢T
Lg 8L
g8 STT
9L 68
€ [4
ATHNOH

L2T
113

¢13

16
1or
0sT

TS
6¢
£¢
Ly
SrT

1el
A
74T
TeT
Ly

Loé
€6
L
1
LT

g€
Og
4
4
291

6%
L
oTl
€8T
€ZT

T

nvy

et
Le

98
41T

13-
g1
EL
6071
76

96l
99
Lg
6te
T

s0¢
oL
3
el
1<

14
£a
LAY
(44
9t

Lt
68
90T
¢TT
wel

NYdn Q6
NV W @6

NV 3w
14
Le
3¢

[y el al

Lt

st ¢
7L
el
[ !
[

(ol i vl o N o]
—t

— N T

Iivd 4o



741 86 9TT ®eT €81 #LT »LT 2ZLT @6T 691 19T Q0T 68 18 g€ZT €T T&1 §LT 69T #9T ¢€LTU ggT 1Iv1 wgl 1T NY3A 6

13 €€ vy 8€ Ty vE Ty 9% Ty w€  L¢ 6% €5 T¢ Ty ¥ Ok TC 92 #¢ w2 & T¢ €T 8L NV iin DG
98 TL gL LL 68 98 26 w8 T6 26 06 g6 £0T 66  wOT 00T L& 98 1é 26 gL g¥ . 2L 1L gL Ny 3w

|
gL €6 9cT 68 ¥y T¢ 9L 22T T¢T €%T +i T#T 09T ¢8 Y %e De Lé T# g€ %¢ &t €t 0f  €d T¢
¥IT 62 ¢y [9 6c Og 62 he 1S €z 26 80T E9T 2w &bz 60F £TZ G¢l 22T ¢2T esT L0T 16 Qe UL 0¢
0g €6 06 Q9 Te L€ T9 66  ®BOT LT &t  G6€T TLT 16T Lel €61 22T 4L €9 19  0b  w€ €% Tw Oy 6¢
€L 66 0 #¢ 66 09 2§ 6% I8 62T O¥T %L &% 8¢  ZIT H0T w11 6w H¥ 19 €6 0y ZL Ll 9tl g¢
96T €6 68T LLT €0Z 122 €TZ %0z 242 82ZZ 897 €61 #»IT ¢OT 90Z 7T6Z 212 &de 692 ¢gld 1wl ¢LT €T¢ Wl Ly te @
6€T 96 8vT TET 4Tz €LT #8T ¢9¢ ¢gTe €61 o€z 2IT €L T9 Q0¢ Ly »6 65T 09T ¢&vl #0Z ¢TT1 8L 08 09 22 d
82 & 9% g% 6 wZ 2z 02 wZ w2 sz 42 82 ¢Z Iz g 6T 2¢ Tz 12 €2 gz €z g2 9¢ 2 9
Gy T9 82T 98 40T Ly €& 9z ¢z Lz g2 lz g2 2 g€ €¢ 0% Ty 0% Lz 9z 02 91 61 0e e 8
oL €2 e #2 &€ ¢E 0g  tv  Tg  th 49T 9CT SIT LIT 6 D€ 6 99 w9 g6 EM v T6 T0T LLl €
81T €97 »iT 802 622 0gZ 98T 1% 9t g w6 6 60T 6%T 291 TI4%T €6 9r 1€T BTT 9 9 9t 94 oY Ze
%9 o b 4y g2 we &2 4T €z LT 69 L%l 99T %9 66 g6 69  ¢& 26 w6 T Is 69 g% 6L 1%
1] Z¢ 19 9¢ g9 6L  2¢ §Z g€ 0¢ L Q0T €11 68 ch 0L &L €9 ¢ €% 8% g g6 €6 26 02
$6 %9 8L 08¢ T¥ of T¢ 26  6LT %91 Te 86t T9T 46 w9 v Z%v &%  wL w6 ®»IT ¢Cl 2ol 920 LeT 61
evT  O%Y Q€T #L 0B ¥6 9T GiT 8LY 892 662 602 Tez 6T LET Owl 80T ToT &L TOT €9 Lé  6UT LTT WL 91
9zZT %6 69  HTT 09T T9T 9€7 98 10T L9T 091 16 s#T  TTT 60T L6 ZIT 9vT 66T €97 29T 9eT T  €¢T  ¥61 LT d
8¢T €6 69T €0T oTT #TT €92 692 92 972 T€I €¢ w6 29 Te €% 6€7 861 0lz 6€l 01 L6 691 €81 09¢ 91
€T  26¢ €9T 00T OcT 82T LL iy 8L TOT 8L 9€T L6 g6 &8 68 9¢T 16T 8OZ §LZ 62T OTT 2T 4§98 91 41
99 65 ¢v 8% ZL 29 Qb6 9%  9¢ TL  ¢€b  9¢T LTT €9 1% %& 6& 2% €% LL g¢ gL 99 0% LOT %1
T2T 99 Llg 92T +#€T O%¥T 68 @2 62 6h 6L RIT 9%T GT¢ TTe L&Z 29T 69T €42 8T &9  Z¢€ gz 12 g4 €t
LT %¢ 9T gt 1t &1 gl 2T & 9T 81 ¢ 9T €1 €1 9z 9t Z¢ 1 LT 61 8T 61 T 0Z FATN
£€ 9T  Te T¥Y . &€  ¥E 62 Zh €2 9T T2 s2 0% (6 90T LL e¢ &l IT LT 6T 8T 11 6 0T Tt
BL ¥T LT %€ T¢ 82 62 §2 9% G9 T9 ZBT ¢€6T 64T 2¢€e €2 GLT L1T 09 %2 91 1T ¢ 0T €2 ot
69 0  w%¢ LL  TZT 10T 82 8T 6¢ €% 2§ H4€ 8% g9  BcT O0GT €L 9 &% 16 L €L eg 9% L& 6
o9 2¢ 0%  6€T ohT GSET 242 86 OL TOT ¢ [ v B8Z TE Lz 92 Gz 9 82 wz €z €¢ €& HE 8
oh 6T 8¢ g€ Tg <¢T €2 €€ 9L 6IT 16 +»9 9 8 GL ¥y 6T 6T 6¢ 1€ L g 9¢ 98 6l L
4 LT T2 91 8T 82 %€ G- 62 9y Ok T  BET TTT €. 62 2&¢ L1 LT 91 #l €1 1T s1 4T 9
TL TT 6T T T® 0% €0T 96T 92T 88 9 ITT 28T QRT 921 #I1 96 16 s¢ 12 0% LT 6T LE ST S 0
€2 ¢T 1T o1 o0¢ €T %% 91T 2 6% Q¢ Tz 0z - 0T ¢ 62 2 Te g2 L ¢t €¢ 6 g€ 0% LI !
ETT 6L Z6 60T T#T 04T 69T LZT 88 86 08 &t ToT 8¢ 2. TTT &9 &ZT 881 o0Tg w8 19 901 gel [gd €
2T 60T 96 €8 TeT 9T LT 9% ] 64 6% 69 LL 99 QUT €2T g€z €92 LT L#T T9T GTT 62T OLT &l& < a
#E€T 20T 98 BT LOZ 26T #TIZ €42 #92 Te¢2 28T €L 6% 16 gbT 96T &0T TOT Ty 96  GOT gL Lol gOT &L T a
Allvq €2 FA4 T2 a¢é 67 8T LT 9T T T €T FAN 1T ot & 8 L ] g L) € 4 T 0 alva ag

HOHVIW 8167 . S3IDIUN]  ATHNOA NV



g0z TeT
Le €L
91T TeT
0Ze vl
gg1 €12
LIT  H%T
€gT 8672
LT 002
6TT 89
66T 68T
0cT 982
g% 69
g9 &
#eT 291
08T  TOC
66 TS
Zg €y
#9 144
Tzt 66
91¢ 68T
0¢T ¢
10T 511
i91 ote
€01 +0v
Ty 1€
LE Tv
Lz 6¢
8% &€
e 96
8ET 091
95T 62T
0g 08
T6 9¢T
Alvg €2

Tee
Ll

0&T

LA %1
st
E€T
#1¢
7871

6eT
GET
09¢
8é
vl

%
8
L
LZ
13

1
T
8Lz
ZL

891

1%
1€
(44
&Y
9

6
92T
071
16T
811

44

96T
ol

9¢T

16¢
91¢
GeT
LA LA

96T

6¢
L
80¢€
911
66

gt T
16
61T
T
[

6l
9971
LI
4]
[4T4

Zee
kXA
[A
{19
<

59

eltl
Tel
¢6T
01T

1€

weT
€L

1271

4:h
9he
L 144
29T
LIa

65
8¢
0Ze
LOT
Lé

vl
131
BTT
0¢
0zT

¢l

961
Lit
eTT
gET

691
w2
124
e
139

921
0eT
80z
68
88

0z

0g1
Z8

0eT

it
9e¢
LaT
0T
99T

QL

061
LE
29

6
09Z
€91
Le
69

L9

ote
€8T
90T
w1

98
9¢
8%
99
e

921
6871
L6l
§TT
99

61

L9T
0oL

911

817
oL1
56

ZT1
LeT

0¢T
9cT
¢t1
9¢
o¥

69T
902
Tel
114
€2

l

<LT
8LT
[4:)¢
LTe

81T
1%
9L
8¢
1%

6%
£6T

€42

T0T
Y

191
Lye
o
e
92

L
9LT
Tie

50T

81T

92z
S
LY
<7
el

kT4
L&T
L&Z
9L
aL

LT

1Tdgy

w82 Llgd
29 19
12T #11
669 €ZL
6% 6¢
] 8z
20g &T¢
g8 g€
06 ZL
Zée  60¢
96T 96z
92 Zh
0% ¥
06T weT
g8z b6
% 99
LT ¥4
2z 1T
39 4971
L9T 8L1
€8T €o?
ETT %07
65 0g
63T €©¥
€ iy
¢ L2
14 8¢
49 1%
¢Z 42
iz Le
L9T L9
6¢g 44
%9 Sh
9T a1
gleT

g91
29

LB

Tow
£9
1%
8921
ie

oL
6¢T
T
24
0%

66
€91
€9
G2
87

QtT
9¢cT
2LT
G4
gt

66
Lad
22
6t
a9

o

19
90T
6T
9Z

LA

&gl
£y

L

wey
16
16
%71
€4

J0T
#07
Gy
Ly
86

L8
(44
154
T4
IAY

951
€5¢
L
BE
£y

L9
a4
Te
e
[

€l
#e
Z6T
a4
r4

et

86T
7Y

96
ot
L9
€8

0T
et

LET
Lzt
124
S
73

7
LET
Op
67
8¢

0Lt
:1
L6
44
€5

6¢
LE
Y
Ge
29

¢
Oy
34
L8
[

¢t

L2 e
LS

01T

16%
8

GeT
3]

Uyt
ide
68
'Y
49

0t
Ze
ZL

ZZ
1€
w4<
)
11

1T

612

60T

0%
gTT
By
&nwt
1% ]

gLy

LT
€1
[4'4
ZE

ZnT

191
9¢¥

L0T

#6T
L8T
21T
11t
L9

GLi
[14%
SLT
419
15

#&T
¢eT
11
6T
19

0zt
L6T
2zt
€21
19

g%
I
8l
0z
g8&

8¢
69
#Ge
o€
29t

6

G091
oL

L6

19T
691
947
LS

A2

wUT
Toe
€63
EE4
Le

L7
L97
9
99
44

seT
66
T8
L1T
89

1
€l
e
61
64

€t
9T -
11901
61
€01

v1e
8%

H1T

c0¢
Z11l
0et
86

Lt

wel
94T

w91

e
69

€9
LOvw
#9
L3
94

91T
64
6L

¢el
gLl

9c
[49
9Z
€T
ot

9¢
GLlée
%11
L3
ivl

gire
i

G
&%
(4
[
99

29
LT
6eT
514
€¢I

96
Tse
&y
4]
0o

L1
£9¢
c9

#dT
Tle

T¢
LS
a¢
sT
-3

19
RaT
£2e
a1
12T

(A4
oy

ate
1}
thg
671
6LT

40T
LEE
01T
4t

tofr

ZL
c0¢
651
Ly
(%]

4T
o#e
oY
LT3
gal

3%
ie
LC
a1
ey

43
Zvl
8971
€t

el

S

SADIUNI

€Le
(4

el

(474
Le
L6T
To
R

L7
6LE
£
19
LY
81
68
9Le
7S
Té

(AN
Ly
G6
€9
#0€

7%
&9
h
8
01

aLT
kgl
6T1
4]

9T

i

LA 1-¥
e €
cZT BET
gre €6l
Gg £6
ez g9t
a#l YT
697 HL1L
¢GT  LBI
£0g 20w
2L €Tt
9 e
-2 94
wed LUC
0% 6d
w0g  H¢T
4] &
L9 Gl
79T Tel
6LT ¥wTZ
CzT #w<t
59 T9¢
Tee 9i¢
ce 62
By g€
(44 14
g €1
IR Lg
GLT 6%
T6T oL
93¢ 3%
BGT €41
g¢l o8
£ [4
ATHNOH

961
9
L9
iy
Tt

I
q0¢
9¢

L0¢
ég¢e

Tt
S€
Le
LZ
6%

Lee
st
By

tAAS

011,

ke

ny

8910
T9

#0T

LR
LZt
#1e
i

7¢1
eIl
117
1%
86

Lot
o
44
T4
Zol

9eT
66
Y
al
0&¢

6Z
gt
(9]
0%
L9

&6T<
sel
i
et
gL

NYdn
NY3IW

NY 3N

0
62
B
Le
9c

W C
~—

— oy

Jlvya

as
bg

[a)

s

aw



Wi
0%

TeT

#0T
8gT
6L
60T
TL
1T

60T
9¢T
181
w6l
¢0T

61
%G
66
68
99

£G
ezT
€
LLT
Loe

ki
6%2
Té6
iL
LZ

6¢

9z2
1343
0ge
319

Aiva

(4114
08

5T

47
444
FAYA

Z%1
LE

giT
6€C
Z287
wid
FANS

8¢
15
Le
291
Ls

49

021
6071
€1¢
002

1e¢

g0t
€L
&6

v
iy
69T
L0e
(431

£e

LST
09

€T

133
€6
10¢
LL
Te
8€E

Te
LST
vl
e
06T

LS
e
on
€ve
0s

Ly

IHT

Hel
18
¥4

9Lt
Le
L8
96
68

8L
9¢¢

61¢

#91

A4

£0e
G0T
T6€
qed
99y

1e

L A%
95

w91

1%
(49
991
gET
Lg
€01

2T
251
60¢
84¢
80¢

042
w2
96
it
95

€9
HLT
0L

§8z
60T

Z6
697
6€T
69
iy

Lzt
6¢T
13:1%
€2T
Lge

0¢

Syd
16

6¢cT

o
&g
c8
91
41
61T

LL
Gl
847
89
L2715

¥0E
8¢
Le
69
49

41
L6T
19
T4
EST

¢
91
£6
€T
&e

ot

Lzl
09z
Tt
99¢

61

11¢
0g

0471

8¢
6t
Og
912

611

0¢
78
eyl
41
STT

v4g
137
€8
[49
9071

Loe
09

€11

#9717

o1

0te
1€e
19T
(4154

Lt

AYW

g%z 912
8 Ly
LTT 60T
Oty gt
Be Lg
Ze 62
6€T HOT
16 Zh
8L cl
Q9 14
67T vl
80z 8¢
0%¢  h3¢
6L LTIT
26 Lg
114 %€
04T 6
€€ 44
95T s
£9 %9
€It s¢
22 1€
90T <oT
€97 92T
PR o
STy 66¢
98 £g
26 €5
v o9
Q 21
zsz 8¢e
Lee T8¢
#5T ST
86 QLT
97T ) 8
2L6T

[ 14
8y

¢TT

9
18
74
0T
GE
8

ag
921
64
6EC
G0T

132
€9
6%
Lg
w9

8
LZ
el
(4
00T

8
€he
e
95
ot

L4

L62
hot
99¢
9¢?

»1

4-13
29

wel

Ll
L1
68
agT
€Y

GET

01T
£8T
39
(H°s
76

R
&9
6
Li
g

06
(44
Z6
9T
9eT

TT
L0¢
091
T8
iz

(1%
G
T8¢
B0

LYy
L

S9T

s
LA
90T
Lad!
19

w81

WL
€67
66t
89T
96

LS
30T
wil
68
£9

8

€eT
0Lt
66

e
76¢
g0¢

Gt

6%¢
99%
Gleg
Gh3

it

gt
9L

LeT

8%
HTT
60T
121
19
402

g¥
2971
t9e
w8
L9

€%
621
01T

vl

g9
Gg
66
90T
997

1%
L82
592
(4]
%1

912
(113
E€LE
gl

T

ThE
T8

¢C1

159
96
4]
TeT
8L
8GT

291
teT
61T
€9

s
[
a0t

29

$6
13
g
21T
e

&
Loe
gIT
0z
£t

EATA
GHe
evT
Ghy

ot

6Tt
gl

Lzt

v
#8T
£y
191
39
66T

'3
01
GeT
011
€S

1s
ELA4
L6
LL
8¢

F4
L0T
60T
BLT
L0g

R
L3T
T4
¢c€

ﬂ'

T4
véec
€Tt
ot9

6

661
€

60T

T4
642

€6
%9
LG

20T
Lee
902
01
Z¢

Te
Lg
e
[T
¥E

4
B
6

ZLT

6ge

T
T2
el
Rl
11

Te
6Z1
6
-39

€4

£o%
£%

(TN

v
et
(4%
6t
1T
(AN

7el
Q¥e
c6l
el
LT

59
19
79
éel
Tt

se
89
£S
%21
9lk

gey
ot
9%

[ % 14
IR14
GuT
66¢

LSE
9g

6eT

00T
zve
9z
6%
[
LG
G9
EET
€12
€€T
e

LE
o€
1T
GL-a4
¢

61
86T
41
$82
rhe

BRE
9e
el

TOT
062
1A%
éLs

€Ze gle
09 £9
LA N
9et  wwe
6EE  Tah
%1 81
9% LY
LO0T Lt
8L L8
gLl 2wl
481 221
g¢¢  ©9%1
R4 qti
hi 9e
0¢ LE
T c
sl L1
#6T &L
LT ¢9
¢l £l
64T 19T
an 134
ITE  HiT
wile 08
el e
Ll 6w
we 14
60T #¢
ET 4z
LT £
£€TZ T0¢
Lee Lyt
LA TR
g8¢ 806
4 L
SADIANI

618 Ewg
[ £
geT  [E7
glz  Twe
6T% 9%
%€ Ge
LY 99
98 S
ZyT  6L7
0T 9¢t
€01 8T
geeg  1ad
921 vt
GYT WG
LA 6t
§E £L
227 6L
671 Lé
L9 59
oT 91
twl 64T
LL oIt
cal 161
g6 Teé
1€ £
1¢g séd
gy LE
FA g¢
(3% (4
9T U¢
cLZ  90¢g
zle Oc¢id
LT €6¢
LGt w6l
€ 4
ATHUNOH

06T

70T
6T
gGZ
etl
44

k4]
6¢
.1
Te
29

1
174
alLl
397

Ty
807
s
oF']
&1

TE

Lge
99¢
0e¢e
It

T

ny

761
09

Irl

R 2%
61¢
Lo
¥11
g9
091

Ik
Lel
9gé
Tie
9e

00¢

6€
611
19
(A
e

CT4

LLe
€8T
£6¢
Tot

NYdW (8
NY 3N 86

NV Jw

89
0t
6l
yc
Lé 9
3<

174
14
€l
44
ic

[e14
ol @
sl ©
LT
9T

Lo — O e
OO 00

vd as



wEe 9Ll
oL Zé

LET €sT
eg1 €z

T1T 89¢
et o1
961 0e1
”Ze (149
TLT 0Tz
BT 281
SLT 682
Lyt BLT
L0z +9¢
041 692
SLT (143
91T ezl
92T 21T
2L oLt
611 9e

Sg 141
59 c01
S O¢

LIA g€

821 3¢t
rAd -1

1T (14

9¢cT L9¢
Ly 06T
c8T- %I
2zl 6LT
00T 6C
TL2 0zT
9L 18

Allva €2

91
98

LyT

Z€
BT
g6t
€G
0%¢

8z¢ -

98T
8¢t
LB
8¢

117
419
T
€L

091

e
L6
91T
11
4]

rA YA
19
8%
9¢e
LT

€T
092
6g

BYT
TeT

X4

ort
69

TET

9%
#0¢
661
gb
LIX-

[4°h4
LT
g6e
6¢€T
6c1

et
€ST
8
89
rA!

4%
99
g6
(28]
gy

10T
6t
Ly
ive
9T

#TT

HZE

v
1533
1%

1<

Toe
#9

9€1

29
212
gzt
91T
6y

9¢1
861
68¢
glt
#1e

90T
L11
8L

€vT
10T

6¢
9L
9g
11T
95

0L
&%
a6
g0¢c
6271

8g
L2z
$0T
€0z
€¢

0¢

i8¢

[ 2]

96T
ZIT
521
502
STS

LAY
1341
iz
961
99¢

€2t
#0T
16

LiT
B8TT

v
8q
1
LT
Ly

621

oyl
687
{17

66
LA
€Ze
0L2
¥

6T

T4
6S

€LT

v8g
901
LET
€6t
8¢¥

79¢
GET
81€
Ttz
292

66
971
001
8T
16

149

O
80z
ki

gce
14
oLt
Zed
2L

Lg
LET

04T

89g
re

g1

182
29

gsT

el
4=}

L1
il
447

682
1zt
cée
68Tl
§9T1

gL
L0g
09
ZET
oe

€9
L6
0%
&0g
e

§9¢
x4
18T
9T
(44

o
601
76
w49
ge

LT

anar

19¢
Sy

61T

88T
Cg

16T
901
€Ty

TL
(43
6cT
78
96T

&
96T
aé
(4]
139

8L
69
e
6vT
09

192
61
88T
9L
LY

9¢
vl
€5
50g
Lg

ST

(4974

R34

L6
0e1

887
A%
Low

90T
Gl
9%
B1T
€le

lg
80T
€6
0%
iy

Gl
14
Ly
OoT
gt

28
8T
Té
6€
e

9¢
114
9E
BLe
113

et

8161

14
LA

66

19T
k{423
6Z1
84y

29¢

€0T
€LT
A

w21
74T

LE
&%
09
89
LA

Tg
91
99
€6
LL

L&
i1
€L
9
(13

T¢
13

127
we

T

194
L3

50T

Led
98

Ity
8¢T
wZe

431
G8T
LG
€L
LL

11
ot
€291
06

RE
0z
61T
ToT
G8

Oye
9z
9g
89
68

11
TLT
o]
vZe

€T

09T

69
LTT

0tz
o6l

G8T
To2
991

967
FA:]
Z9
BET
811

TET
Lzt
whe

0¢T

(4923

9¢t
gt
Lg
91
09

i1
LAY
8¢
617
#17

€9
cET
94
chz
T¢

¢T

g9ie
0L

#6T

1%: 14
-3
89T
66
(44

171
oyt
84T
0e2
16T

997
46T
€52
922
S0T

A
61
9
%0¢
111

#1¢
P24

0eY1
LeT

[ ¥
Le
98
€Ty
12

1T

6z¢
ie

L9T

et
0L

ez
L1
¢Te

6
€€t
102
9¢T
99

86
¢l
26T
(%24
124

Gt

L0T
384
ege

£6T
LA
[
Ly
eT1

Lge

Fﬁ—
LT
A2
113

0T

TT¢
ozl

oLT

€9y
+0QT
69¢
el

T8¢

ZrT
9¢T
glZ
Ze
L9

6nT
1671
6¢T
98
19

a%e
4

g0z
2zt
z0€

leg
9t
iT
(4
81T

6L¢
09

122
90¥%
BET

" 14
48

LeT

gL
65T
€2t
OL

1w

8ye
LT
99T
L

ETT

16T
SiLT
61
Ul
0¢

8.2
8y
0
8T
cze

€Tt
2T
9Z
19
L9

2Le
L2
A
9% 1

76T,

00¢
%9

ovt

8L¢C
991
9%

98T
66¢€

§21
1€z
gl

94T
661

Tel
9z
9ge
69
£¢

c0¢
0¢
e

LET

LA

2T
oh
20T
LZ
%]

32¢
9¢
Z2<l
o€
66

20¢€
£9

Syl

6¥e
66
69
cee
0%y

o1t
7Le
8¢

FANS
69

T6T
6ee
TLT
60T
a6

06T
6T
1T

Ow1

€l
Ty
cee
60T
(17

gLz
194
<6
(49
coe

9

49z ¢1d
96 98
66T €21
g2t ee
=) 9
H9 0iTt
012 GT¢
vet  02¢
96 82T
Led ¢ged
RE G9
X 95T
¢ZEC  HLE
4ge 081
ZHT 49
Ly 0t
8éZ B6T
%G gs
€ece <11
og 09
1< (4]
2L 91
T 6.7
[ ge
y#1 Q09T
642 #6T
9T 19
[ o¢
16¢  (Oz¢
14 cel
4 01T
Db £9
T w9l
4 Y
s321aNI

i¢g 591
Lq L9
¢€1 T
€9 L
0¢ sz
CQOT LL
glz €0¢
g#T  G01
122 104
€vZ  69¢
gelT Léc
66T GEZ
Luy  EwE
%8 LS
9ttt TgT
9¢ 439
T2T 94
Gt 12
LA T6l
Ty 94
g1 e
I'RY 6
09z Tel
65 [4:]
Lé 47
94T 86T
bl LLT
Zh LG
06¢ 64E
ZeT 0%l
41z O
09 ol
v&T 6
€ Z
ATdNOH

661
6L

121

€yl
Zé
96
§c¢e
LeT

#¥7
6g¢
owe
187
g8k

Lyl
LT
€9
88T
T

#6T
tH
#L
sz
ust

T+
9¢
gl
L0z
iL

§T¢
€6
29
0g
4

I

ny

[ 1eY4
L9

86T

[4:74
24

Lati
66¢C
6cé

Goe
Tée
LTce
6t
70¢

AT
g1
92T
gyl
4%

A A
- FA
66
414
asT

&Y
|74

%91
80
6%

2ge
LY
g9l
94
8¢ -

0

NY3W dg
NYdAW D6

NY iR

o
o™
]

[ - o]
[a]

o
[ 3 aTIN A LN o

-G F N L O
L I R I T
eee . &

—oN M O T G
—i

31vy ab



Tee=
£g~

€T~

OLg=
GgZ-
¥0g=-
ITT-
9¢-
98-

€01
9=
g1~
A

£e-
gbw
Lel-
STT™
gg T~

=
Ly=
9eT~
1%
9L=

902~
£9z-
Z¢T-
get-
0rT=-

112~
699~
wTI=
Ly~
GG=

ATIYG

LgT=
HT=

90T~

6CT=
90¢~
ghr=-
1=
b=
gi=

6T

ol-
€=
€1~

Ti-
6E=
oz~
95z~-
CChe

QT=
ce-
g8=-
€9=
0¢-

gz

cog-
TTT=-
192~
8LC-

gt
£9Z-
Li-
1T~
9L=

134

Téeg~
L1~

9€T

Ll-
0oz-
€=
98T~
L=
26~

a9-
E=
G
13
81—

6=
Tg=~
1T~
09T-
L8T~

€T
AL
Zgé-
Z6-
Ty~

=

Llgg-
&Lz
9Ty-
TLe-

Yp=
ghy~
LT A
gt~
Lti-

zc

€6l
Te=

eyl

DLT~-
Hhll=
01~
9c 1=
gl=-
9€=

59=
Q=
gl
L=
ol-

wl
€T
zz~
65-
101~

21-
L9-
eLl-
G6~
9¢-

102~
AT
L1T=-
T6~

TeT-

olt=-
6G9-
119=
og~
LY A

T2

6ET=
L=

iTT-

9TH=-
gl=
&€=
Otr=
Lg=
8t~

Ch=
£=
Gg=
L=
=

L=
0g9-
gl=
£e=
Tig~

€c-
6=
By2-
6CT-
te-

6€T1-
ech-
£E-
15~
0T~

=
Ley=
9¢Z=-
08~
T€e-

(174

T0¢-
1¢-

621=

BIG=
9=
5e-
SgE~-
86=
dy=

1T~
0T~
OY=
€=
._u_l

=
€=
eT=
91T~
8ge~

12=
Teg=
Lg=
9g9=
Eh=

€L=
gle~
9=
c2-
Bt

9c=
Lzo-
+01-
61T
8e-

61

£~
he-

891~
Lhg-
FA L

wLT=
€9e-
6l-

LET=

067~
La=
101~
¢|
g

LT=
Bg=
ZT-
vel-
cee-

Be=
TA
Opp=
Le=-
kA%

aTS-
L=

802~

TLg-
eh=
goy=
(- Tt}
9é=-
sc-

66T~
BT~
Zyi~
T~
ml

€z~
LA
(4%
Z6~
1%

0é-
£9-
G-
To=
99=

€Lc
21-

00g-

e~
Cl=
Q=
9éc-
Yh-
49=

OLT~
£eE-
LT~
.Hll
1=

€9~
YA
6T-
£c-
QBg-

Li-
12~
91T~
g=
ETT~

E5T= ¢g€- ¢56-
€09= $8L= T0¢=

1=
1 24n

IN
65—

¢leg=
9Th=

wltp= #gZ- 107~

g=.

6L1-

T0Z-

§6ZT-TLGT=TSOT
LzT=- ZLT- 491~

we-

se-

EAt

¥T= TLT~- €11~

8T

AUYNNYT

LT

9t

8L

96E~
11-

9g I=

622=
8L~
Teg-
#1T1=
6¢~-
6l=

94T~
Lg=
g
[
[

Tg1l-
€01~
To-
g9~
Og6=-

0Zw
2z-
GLil-
€e-
BGT=

gge-
95T~
6Th=
ghrh=
91=

6E=
=096=
I16¢e-
Og-
gE=

ST
6T

Seh-
1T~

LBT=

bOt-
wl=
cc2T
g2~
gZ=-
yh=

[AR R
£1-
G
L=
L=

T9-

¢9é~
10T-
8T~
ZTi~

ST~
ve-
9ce-
i1-
hel-

cZT=
S61=
cEe~
GeT~
19~

[Tl
osg=
i~
Ze=
Te-

#T

8g¢-
6T-

6¢T-

9¢e-
gL-
“6hL-
Ge-
Ne=
Al=

el1=
HI=
@l
64=
€=

&T=
96T=
LgT~
Ze=
Lig=

g
6e=
#LlT=
61T-
§9=-

gg-
6L=
O¢T-
e
G-

66

¥00T=

&17=
g
2T~

€T

Liz-
0g=

g0t~

CLE~
eiz~-
Z91=
G-
b=
Te=-

091~
9é~
£=
&Y=
¢i=

0T=-
L=
611~=
8-
8=

Tg-
P4
01T~
B1=
Byc=-

6c=
6CT-
6T=
BTT=
e~

T9=
a9~
Sg-
&E =
£E-

2T

EGEw
g6=

T~

60¢=
It
#8Z-
e
gc=
0¢=

FGT=
g=
Ti=
€4-
£g=-

01=-
TG~
85¢1
L=
G-

651-
Lg=
8L~
1=
LRT-

Ly=
0BT~
gL~
1T~
qZ-

L1t=
Zafi-
-
gg~
ug=

Tt

0ch=
=

Te€T-

8T=
294~
8¢ 9=
e~
Lo~
HLT=

Zel=
c=
b=
Ly=
71=

b_||
121-
42
62=
11~

LoT-
Th=
€re=
L1=
ToT=-

sh=
IGT=
Th-
I11-
gl

0z1-
¢Og9-
£i-
geE=
€T~

ot

Zehr=
oe-

0eT=

TeT-

0211~

gre=
2eT~
9T

B9~

gIT-
£1-
G~
#g=
m|

9z~
ZhT=-
66=
12=-
11~

i-
OL=
89~-
SL=
cT-

12e=-
98T~
ml
ahl=
og-=

6T
LTA
2i-
Le=
6=

6

662=
SE-

601~

60€-
cEI=
SeI~
(4%
®T-
256=

85=
8¢-
[
9L~
hll

9G=
SIT-
YHT=-
(4%
ml

Le
£5-
90T~
LT=

£z-

9T~
Tohe=
8=
STT-
(A4

c0g-
Chah~
7=
[
wi=

)

0=
0=

911T=-

L2z-
Q9l-
L9g=
Ly=
I~
bo-

6=
LT~
=
Lg=
M|

T8~
=
G1T~
Y-
D -

g=
(YA
56T
LAty
Ih=-

g0T~-
Lyl=
[
£E=
XA
98-
269~
61-

2=

96Z-
SE-

LOT=-

0T~
CO0p=
6iC-
[
€=
00T~

8gT-
g€=
Te=
gG-
17 -

9¢T~
b=
1A%y
Li-
gTl=-

90T=
872~
s

eTl-

66T=
LyT-
Gl=-
9z-
Ze=

96T~
£ea-
6L~
=
€e-

Ové= QLE-
[T- Y=
8L~ €g-
tE=-  LE-
9Te= Ti-
wig= #¢l-
€é=  fid=
gé- te=
L6=  Tv=
GTT= 2=
G- €-
e -
O G
¥} ¢
€l- ¢~
T Og=
Gol=- 16T~
gL= hgl-
b~ 0
T~ {£T1-=
= 8T=
g8~ £4--
G- L=
197~ &i-
Tel=- ZHl-
GL=  bg~
G~ &d-
2= G-
0g= ¢Z0g-
ghEg= vgh-
6g&= HEC—
LT= &1=
B- €G-
TT=- B=
g L]
S3D10NT

gel= T6E=
0T~ &1=-
LAN A
98T~ 8g([=
Ot=  gé=-
Zi~ Gy~
2= G-
gl- LT~
6= ”
11- 12-
G 5-
e i~
€= L=
2= -
L= L1=
2eT~ EgT=-
§ge=- g0g-
€02~ Tgl~-
Z= | Nl
0~ €1-
GZ= Gi=~
c0g= ei-
GOT= ¢e=
1= <=
£ae= #lh-
6¢T- Tel-
HZ= Hil-
1¢=- o[~
Ol%= 98&=
gTe= €ge~
769~ Ghy—
T2- GT-~
BOZ~ HBT=
L= otT=
€ 2
ATTHN0OH

Tge-
eT-

etl=

gLT-
Ly~
GeT=
4%
LZ=
LyT=-

ci=
G-
ml
8=
¢~

Lte=
8y~
L0E=-
T€c-
G-

7=
Te=
gd~
Te=
gT=

LAR TS
9TI-
Zeh-
&=
0gT=-
gE9-
gyl=-
11~
[
&=

T

Iy

G6L~
0i-

6el-

CEh-
G&=
80~
68~
e =
cotr=

L=
€1~
Fu
QT-
g=

Qe
6G=
4%
Czv=
ﬂl

()

0e-
ce-
H1=
®1-

ELy=
£9-
0ee-
€y=
hh=-

Lg6=
«0¢-
ér=
Sl=-
oT=

0

N
N

N

L

¥3W Q%
ViW 9¢

YN

49
0e d
&6¢ ¢
4é
Le
9e

Ge
e
£€C @
¢ ®
¢ ®

/14
6l
4T
i1
91

st ®
LA S

0N N

1va goe



g0¢-
oy-

E A

vge-
6Ty=
L9z-

Lg=
€9~
8-
B2~
LiT=

wel-
69T~
86=
9i-
TLT-

€ve=
oti-
€L~
Gi=
4%

Ly~
4cz=
6¢T-
hE=-
$TT=

86¢-
6g=

wiT=
40T~
THT=

ATIvQ

81~
Ge-

£ET-

Si=
Yol
#0Z-

6Tt-
£
Ti~
9gh=
Z6T~

¥1T-
gle-
cot-
¢8=-

TGZu

gE-
97é-
gT=
=
hl

o=
TL1-
917w
-
ge-

LeT=
1%
LT A
9LT=-
ETo=

134

g -
#mw

84T~

GLT=
Eoh-
091~

81eé-
L=
99=
L2~
6gi-

62z
Lgt-
08-

€0t~
T8z-

Ly=
gvIT-
LT-
LB8T~
=

Nl
08T=
6sg-
£g=
FR

091~
o€~

80T~
G6g-
91T~

24

G8¢~-
6C=

yvT

AL
T0v-
cHZ-

9LT-
1
Te=-
€8T=
ove-

66~
16T~
Le
NeET~
#(OE-

o=
0t1-
z€-

GLT=

11
TLE=
LOT=
16~
0'

6ET~-
A o
ZeT-
9ei=
6<=

1

£ge-
€e=-

TLT-

SLg~
LEh~
69y=

bL=
TT-
Le-
68-
6=

€TT-
€LT-
g0z-
G6=

06T~

Lip=-
Lo=
eeT-
11~
-

Z€-
hee-
®1g-
1%
TGT-

60e~
96=
T6T-
6T=

. 6=

682~
Byp=

9LT=

Sle~
G64=
bshr=

ST
g
L=
gi=
ocy-

T8T-

€61~
L=
0&=
862-

Th=
Og-
By~
161~
ml

641-
A%
oee=~
#9=-

6LE-

9eg-
(4
Oh=
ge-
c0T=-

61

TEy= Liy=
gé=- Lg-
€ed= QGe~
CTB~ {18~
&8¢~ ¢19=
98— TTé&=-
2= =
0= 24~
6T= Q2=
092~ 66¢=-
¥LE= 909~
aGZ= €9¢-
66T~ §8T~
622~ 6LT=
T0T=- z&=
g8e= T2¢-
66~ HGm
gé= BHT-
LTd- 182~
662~ 9Ze-
[ ##I
gve= Le=
€9é- gic-
4Eg~ €LE-
091- 9¢CT~-
Qtc= Z2¢-
LOt= hZ=-
#€= LT~
YT~ Z2ig-
b= 9g-
Zhe- Obg=
g1 LT
Advny493d

606= BlLEw
19= Q%=
8T2- ¢HT~
099~ G612~
L6~ Z6L=
924= 2lE-
1T- 11~
66= LET-
Teg- LI-
00p= Og¢=-
666~ ZEZ~
90T~ L¢=
LeT- #R1-
16- 911~
€6- €¢1-
gvz= Hel-
S8~ Hl-
ehg=- 82T~
¥0Zw Gl=
Ot~ LI-
zeT- &E-
6= €=
0BT~ &wg~
wilz= 9y2-
gg~- T~
GeY= Lge-
26E=- By~
g7~ 8g=~
1GZ= ZOGw
gl- LT-
6TT=- T9-
9T <1
81671

"6~
6Z=

T<T~

16T~
698~
(4% e

T1-
Zh=
Tz-
o
£gT~

AR
T6T-
Lez-
9y-
&91-

6T1=-
Z9=-
€z-
ET=
Le

A
hTe=
gEE=
L1-
1ey-

Ty
L4
€6~
¢~
SRT=

7T

Cly=
Be=

181~

(AR

T60T=

304=

2y-
.wml
9L
9ce-
9T~

96T=-
LATAd
LaT=
0=

0gé=-

2T
gg-
0g=-
L=
@l

ml.
gEn=
Tz~
LT-
08~

g9~
wg-
¢eT-
L=
THT=

€T

66¢~
Bt

SL1-

(1A A
L~
c8e-

gzt~
eI~
9¢-
Osz-
-

9ce-
16T~
T9=
€=
giT-

te=
glg~
0g=-
0T~
Q1=

FA
Lt
Lé=
1=
A%

£QE-
L=
bEE=
Lé-
114

et

peeg=
09=

R
£ee=

[
HG™

LET=
78T~
#G-
Ig=
28=

eTT~
STT=
tL=
12-
g0E~

HEb=
9ee-
HT=
He
TT=-

€E=
c0g-
f8e=
Ge~
8e=

2% %
Qt~
éee=
£Te~-
(9=

17

Zgt~
5=

8¢T—

90z~
£le=
¢01~

gi=
+9T~
1¢-
=
Ef-

czt-
o=
Eh=
T2-
6hg-

9621
Ltet-
6T=
1T=-
Ty~

Clhm
Wih=
5T=
oz~
GE=

95T~
Fi=
ig=
91
=

ot

[A XA
L=

Lot~

(R TA
gee-
LTE=

g1~
c9-
€1~
13%
Ol.

cg-
€e=
8€=
0e=-
#gl~

-T18Z-
¢TTl=
ge=
e
0%~

3%
z9¢~
1=
LT=
ml

gce~
gl=
ga-
98-
ZE~-

6

Ugee=
LE-

ge-

gee-
Li=-
9=

ih-
o=
i~
GE -
2=

yii=
81~
89=
0z~
29=

969=-
-
rZ-
gY¥=-
0L-

Tt~
SHE -
9l=-
6=

LT=

iHT~
£9=
8¢T~
go=
[

Lee=
a¢=

601-

0zbh-
81z~
L=

2=
9L=
0T~
Lg=
g=-

Tgc-
G-
TLT=
g41=
G-

L9¢=
e
91~
#9 1=
6=

61
Tee~
AT
Ol
ce~

oLT~
Bg-
aci-
£6=
HZT-

G~
1¢=-

4=
G0c~
UG-

Fe L=
L=
ET~
AT
Ty-

TLT-
Gty o
=
9T~
ge =

deT-
[AA

12-

sz-

1T-
Bg-
68=
6=
EET-

91eg-
9=
iei-
LG=
9ET~-

60¢=
ot1-

g6=

9TH-
Lbg-
ELT-

gE=
ZT=
£é~-
[ge=-
gi-

6T =
£d~
cE=
=

sE=

¢le=~
1% o
L=
Cm=
NI

e

zi-
y~
ml-

gy-
00¢~-
Lg=
62~
79 T=
LG~

VETA
0T-

Lo=

lBe=
[ARA
81T~

G~
gz~
A

A 1%
57

11T-
ZEE-
¢~
€1-
L2-

ToTl-
Hy=-
[T A
m.l
ZT=
nl.
BT-
Wee-
g9=
ot I~
Ge T~
6g T~

Y

$32IaN]

geZ= Lye-
2T~ LI-
00T= 201=
gxs= Q€Z-
Zg= Z29t-
651= LGT-
L= Tr=
b= té-
= 1=
Jyé= gUe-
0L=- %E-
do=  gG=-
cEZ= EHI=
ge=  Iv=-
09T= 8%Z=
YA A
66T~ S$8T-
Ly~ -
6GT= Zed=
H= -
G- 6=
C= HE=-
¢~ ge-
Z2T= ©%=
g= 8-
L= -
BYE= H7E=
Zg-  8u1-
6T~ BE=-
L= Te=
gé= BL=
€ Z
ATHN0H

9eem
4

€11~

G-

06e=
Lad~

eT-
[
cil-
BLc-
T9=

LiT~
LLi=
£9-
eni-
Y=

L8¢=
LgT=~
6~
™
lé=

%Tl-
LTT=
ge=
9T-
b=

H8=
€31-
£el=-
66=
66~

T

vy

Z6T=

Z5-
LYACS

gl=
sue-
1920y

TT=
69=
(A
coT=
Tg~

gl
Lé=
101~
37¢~
G-

S6é=
gh=
se=
0T=
g€~

pee=
T~
ge= .
te=-
9¢T=-

G~

6ee=
LTe~
ahe-
09¢e=

G

NYdN dg
NYdAW DS

NV 3IW
¥4
Le
9¢<

[alaNal

114
2d
e
44
i¢

oea

[+14
&1
81
L
g1

¢l d
#T
€T
Zl
T ®

0T B

Aol - e+ )
(=]

oy

3LVQ a9

— 20 —



962~
€

951~

911~
0ge~
91~
?LT-
8hy=
Lgg=

61-
zg-
621~
99T~
86~

L=

6LT-
Bge-
c8eg=
Owg=

QLT-
B6=
€91
Lz~
QL=

991-
£oT-
96=
LE=
9=

¢aT-
6T=

£1z-
Tog-
Leg-

ATlvd

1A
09-

611~

w6~
€=
et~
6g=
co96-
140

Ti=
LA
yC-
69T=
5=

Tée=
Ti-
18~
6=
Lgh=

192-
ae-
04~
cT=
ge-

21=
1=
9=
G1=-
g=

0T~
e
0ET~
91T~
Lee-

€2

geEg~
£e-

€TT~

98T~
$T1-
6=
L1~
O6c-
LTT-

G
o=
oe-
994~
Ly=

06=
G1T-
141 g
Zi=
gLT-

¢11-
-
he=
1=
6=

0T=-
gg-
gv=
L=

6=
-
Eqe=
8=
6Ly~

zZe

608~
¢l~-

90T~

BGT=
T8-
ge-
B~
oLT-
T0T=-

wﬁl
ge=
€l-
L=
A%

£9-
0é-
96-
olé=
P AN

961~
Q=
6=
L
0é-
ge-
LYT-
zge-
LT-
HI

ot-
L=
HhE-
LOT-
65y~

Te

Q0%=
Lz~

eLI-

0T~
Z-
tg=
gT=-
Lgg~
gng=

Z-
g1~
&=
TTH-
sg-

LET=
8T~
gy
gle-
LeT-

Ece-
Zh=
L rAS
#T-
W=

LB-
beh~
ThL=
Lz=
wl

G-
6=
Tye~
£8Z=
S1e-

0e

Tge=
Gg -

66T=

FE€-
l=
AT
£6-
L9g=
Tgi~

Pl
To01-
2=
L9g~-
ge-

99=
26=
o8-
606~
AN A

gle=
St~
gle-
e~
(X4

Ly~
eTe-
6LG=
LT=
G

6e=
BT=
T
igy=
€96~

6T

Gly=
29-

gLt

60T=
06—
e~
g6=
8¢9~
9¢l=

.
66=
8L~
6Le=
Le=

L=
co-

yez-
gzz-

60e-

8L-
1z~
0zT-
9e-
eL=

18-
€6~
gse~
vZ-
cl-

Lyt~
12-

8gh~
€61~
£95=

8T

68c=
69~

Z91=

L9¢=
T¢T=
191~
Lo=

Qb=
BEqm

L=
9t~
691~
R
L=

8T=
gh=
Te=-
gaT=
che-

L9-
Te-
1=
ST-
c02-

62T~
Li=
09-
§G-
2=

IR YA
og-

LT A
T81=
009~

LT
HIOUY W

6le=
€L=

G8T=

Otg=-
€T~
(A1
eI~
G-
Go6T-

1z=-
m|

SL-
im
e~

Gt

£9¢=-
Teg~
€8t~
eThy=

€6~
gL=
ée~
91=
98T=-

Ti=
ZgT=-
-
6gT=
¢0T=-

662=
T

Tée=
gLz~
gey=

91

Leh=
Ofr=

L=

cEE-
Lig=
0l=
70G-
LEL=
eTe-

€lw
L=
isi-
Zi-
LZ-

Le-

LoE-
9¢6-
6€9=
vgE-

geém
90T~-
=
g1~
6¢T=

L9~
0%1~=
L=
L9¢=
66L~

A
rg=

BHT=
OeT~-
L0L=~

ST

gL6T

Tig=
OL=

6ee=

8g1~-
gL
0LT=
659~
T1i-
£0%=

15 %
6T~
&LE-
§8T-
Le-

6LT=
716~
yeg=
Qgh=-
Z0h=

Le=
Ti=
gzZ~
Le=
ho=-

LEe~
9=
ot-
0oe~-
TT1-

TG~
zé=
061~
€a=
ROL=

w1

ETE=
38

gege-

8§81~
LA AL
60g~
Liy=
T#9=
By T=

Zh=-
ée-
g8¢-
LA AT
1470

6b6T=
Tee-
#g6=
GE¢-
191~

v9-
A LA
T0z-
=
LG~

gya-
g
ce=
L0~
TL-

T
$z=

9L1-
61T~
£9e-

€T

06T~
66=

61—

T0¢~-
de=
?0e-
06=
EyE-
ZE~-

vy-
Te=-
G9g-
£G=
#9T=

LLT-
Loy~
&6y
Lig=-
SeT~

L=
¢lg~
LAASY
g&=
LE=

7o~
[
gt~
eZT-
gec-

g€~
e
09¢c~
€91~
Le-

T

gg8=
G-

boT=

622~
64E=
LT A
I5=
T8
Le=

1e-
ET A
neg=
el=-
BT

Le=
g6g~
€1E~-
[
Re=

g
12T~
o1~
og-
I=

LTt~
#0T=
(4%

9Lt~
LOEw

cET™
qe-
g0¢-
Ly=
2SI~

1T

qey=
8TE=
LeT=
EOE=
6Z~

ee=
Te=
O¢-
Leg-
€9t~

gl=
=
[tk A
gg=
Li=

Tyl-
6T-
AT A
RE-
212~

ac =

TZe~-

9=
16T-
z¢-

e~
ge-
Tee-
Ti=
LCe-

0T

€G-
[

OLT-

eC=
GEv=-
Loy~
Leé-
TeG-
0Z=

[ T4
g¢-
¢é-
wed
091~

T9-=
1t=-
Q1=
Tc-
T~

LA T4
LT=
9Te=
ce-
evi-

§LE-
12¢-
£e-
o=
6T

LET™
p=
LET=
L91=-
T A

gLe=
=

geT=

0g-
Lrg=-
91z~
gée=
146
e -

€=
¢é-
=
9=
Og~

68-
(A4
€07~
Tge-
Let-

LoT=
gl=-
§LE~
9=
Q9=

08¢~
$T1=
ge-
§2-
0=

6¢T~
€l=
B~
Gug~
6Z1=

To¢=
Le~

€z~

g~
Ele=
LG~
Lg~
goy=
STT=-

LT~
2l
6t~
91~

g~
¢e-
gLl-

91¢~

goy{~
wel-
TLe=
A 2
hh=

8L1-
gi=
9¢-
Qe~
v

G
91~
9=
G-
8~

LIT~
Gig=

ITt-

e-
i8e=
"oT=
we-
414
9w

€I-
9t 1=
191-
00T~
=

G-
P
OiL=-
TLT=
88¢=

8971~
L1t~
A
29~
(A%

6CT-
T#T=
I
91~
LT=

€C-
¢l-

291~
66~

19é= o481~
gl- 91~
Zel= o11-
gl= GG=
gee= 9Ge-
8= wOI=-
9y= ubl~-
EGy= ik~
L3= Ouwl=-
1= €1=
6g~ LT~
ghT= UG~
§8T= G4~
§Te= #01=
ETAS N A
Q= Y0E=-
Be= &5~
Qleg= €0~
TsT= ¢9u-
Glg= CHE-
0rT= gL~
g0¢c= e€gé-
ST~ 4T~
6&=  Zg€-
Lé= 6l-
gLT= L1é=
gt~ 9-
Q¥R T= 91=
TT=" 6=
el= &=
&T= L&=
L9T= 8g—=
T1ie=- 6%1=
1= 41-
G #
SADIUNI

Llge= Lyg=~
gt~ 91-
gET=- 1wi~-
L= HE=
gTe= G€d~
Zig= ¢g=
6EE= gEZ-
16€- Ti{t=
ZEh= H0y=
Qe~- 671~
9¢=- g~
Gh=  bEI=
6T~ 8l~
y0T~ €6-
gg=  Hi-
9z~ 0=
Geh- Tohg—
g&T= 69T=
Z0e= 641~
T71=- OTT~-
LOT= w&[~
te~- 9T-
9T~ ZT=
1= T9=-
Le= 1E-
TEE= I9l=-
B~ L=
gé= Lé=-
6= al-
&= T1i-
61= ZT-
LG= GET=
€= €6~
g6e= BGL=-
€ Z
ATHNOH

Ogé=
£i=

Lyl=

62-
T YA
1=
Li-
16H=
L=

¢T=
INA
L 1T
§1-
ge T~

o6~

ede-
£gh=
sEe-
£6e-

Llg=
Lgl=
6E~
T~
[ XA

6Z=
CQT=
Ho
gd=
T2~
L=
g
6leg=
IHe=-
T0g=

1

Y

Led~
9T~

eTl=

L=
AN
Ge=
gLI-
Tgh=
el=

0eg=
0e-
cotl
[4 %
g86=

L=
et
0L~
Leé
aht=

L=
6L=
w6~
#é~
G-

€C—
&L=
el=
e
g~

Qo
¢1-
Ohg=-
gle-
091=

0

NV JdiW 6
NYdW 86

NY.dn

T¢
V12
62
8¢
Le d
9¢ d

T
e B
F4
éé
134

0¢
61
gl
LT a
9t

J— 21 J—

Gt
w1l

3Lvag 4o



g0¢~
9=

99T~

bee-
®IT=
Lz1-
T0g~-
ETE=

GLT=
90¢=-
20g-
Og~-

€TT=

S61-
86T~
921~
8G=

<0T=-

6LT=
Te2-
o€z
$9T-
ghz-

eH=
€G-
Og=
gE=
W=

L2T-
0ge=
60¢c-
bcl=
zetl-

Aliva

6lg-
&9-

c0g~

$ol=
CeEg~
T6=
glg=
4 F A

£g=
966-
€9¢~
g8=
Le=

AT
LOT-
1=
6C=
ge-

c6=

101~
6Eg=
66T=
10¢~

BTE-
G-
[T A
Tc=-
se-

hl=
9gla-
19¢~-
13 %
0LT~-

€g

£6C-
$9-

e€Qe-

vig-
9LT=
TeT-
L=
374

ga-
09=-
O¢gH-
zez~
éL=

c0H=
Ly-
T2-
£z=
9t=_

e
hi=
296~
LetT-
164~

Beg=
-
gE=
B9=
LT~

L=
616~
LS~
cle-
06=

x4

o8-
by=

691-

9hl=
gLT=
ZeT=-
c6T-
c6l=

cé=
ce-
g9z~
L6Zw
H#1T=-

9971-
fe-
€6~
0T~
T¢T~

¢0T1-
£HT-
10¢=

02T~

ghe-

2e¢l-
0lw
&=
62~
9T+

qiT-
#€9-
£79-
90¢=~
I9T-

12

ove-
oL-

66T-

08-

(AL
191=
LOT~
TTT-

61=
ge=.
A AL
gL~
Z1e-

LoT-
Tpl=-
ZG61-

se1-

Hy=
cgg-
6=
gL~
80T~
gE=-
9¢g- .
Gl=-
e¢=
@l

0TE-
0=
866~
SET~
8L=

414

Loz-
L=

991~

11

wég=
TH1=-
T~
£91=

o€~
g7~
§8z~-
g1~
gl-

AT
6lg-
teT=
ﬂl
96=

2%=

6TE~
#04~
G0T-
¥6T~

a1~
le-
64~
L=
9g-

9e T~
6TG=-
HT9-
Lzgc~-
gG=-

6T

By~
00I=

997~

(44

€6¢-
€T1-
L6T=
oee-

Gec~
9T~
GTI=
gl-
TL-

68T
J0€=
S

A%

Oe=

§LT-
?0EZ-
Zge~
vee-

L6~
L=
BLT=
0z~
1=

2~

9hg=
0gt—~
9eZ=
Tel=-

8T

Lsg-
6L~

#0g-

LATA
cTé-
6cl=
cle=
hehr=

#Te~
C0Gw=
29=
9=
=

61T~
gcc-
§9=

Te-

60T~
621
gbe-
Lege-
0TT~

£Re-
QE~-
wel=
[
8e~

Ho-

008~
Zig=
e1e=
L&Z=

Ly

Tlady

O goE~
QY= k-
Z8T- 651
8yTT=-04 L~
¥i= 6G=
L0T- 6¢-
Lg2~- gce-
68 €=
98- L§=-
C9h= G-
Oge=- gl0y-
Gftm L=
Tg= G#-
vz~ 8al-
0gc~ vby-=
LGa  Gy-
£l= 1T-
gé~ 0Qg=
Tv= gZg-
LEZ= 96T-
GTh= Ghg=
ghz= €LT-
CET= gGm
96~  Hg-
6C= Cy-
Q4= 62=
Llg» Ti=-
TL= Go9=
Lg=  @b=-
Zég= S1-
€0¢- TGTI=-
9G= . ZZ=
L9T= €h=
91 et

8L6%

Ted-
te-

et~

G66=
6=
T01-
ace=-
15-

211-

LyT~
wE-
oLE=~

LET=
éatl-
g~
L1-
Le=

hge=
66T~
LlgZ=
Th=
Zg-

96
9=
FA A
Q=
96=

9¢-
6Z-
291~
he-
62~

#T

Zee=
G9=-

At

L=
L8T-
911-
LT A
LEeT=

€8t-
6z~
L1-
97~
2wz

£g-
o8g=
1=
[ A
hh-
g=
LTt~
16=
4%
(T4

Og=-
Rire
e=-
gt -
z0T-

91=-
91~
cle=
69T=
gE=

€T

chE-
T6=-

i9%-

064~
&L=

L91-
oge~
£og-

312~
vTg=
L=
6T~
vET~

GE=-
06T~
4
#9=
8T~

vLe~
wel™
0eT~
6=
Th=

[
13 %
G-
BE=
€97~

e-
6€ =
0ie~
Qgg~
Lz~

2T

Lig-
59=

Lyi=

[Aany
T9=-
T8~
gee-
T&e=

Tel-
Ak
STT~
Zé=
TC-

A=
oyT-
$9=
HYI-
GeT=

etTe-
E96=
z01-
7eT-
6TT~

LA
CE-
By=
e =
iRy

zz-
L1-
PR YA
ygT-
TE~

1T

Oypg=
tl-

Cri~

259~
A A
2¢=
wUE=
A%

£€9g-
$GI-
AT~
Fe=-
Le=

ECT=
Sy
G-
LgT=
o=

9g=
£6g~
LTT=
% : X4
0L¢~

ge=
éL-
L=
-
T9=

Rhe=
o€~
c9e-
Q=
€L-

0T

gbeT=
Zg=

et~

yGI-
16T~
LTI=
o=
ye=

90%-
Lled-
gEL"
#i-
Lé~

6T~
G6=
69-
69T~
2%

LT
LET-
geT-
LeT-
Zet~

99=
gh=
8T~
0¢-
¢T1-

Ch=
og=
cle-
o=
LET-

ToT=-
L=

9¢T~

€91-
9L=
woT~

§9¢~

Lol=
Lig=
lge=-
ST~
69-

€T~
Se1-
TET-
OLT-
g-

LR TAS
9=
UeT-
LA XA
igT=

G-
Ge-
TEw
e~
9T~

bt -
e -
9e-
9~
LE=~

TTe~
99~

Le1-

84¢-
G-
501~
g9=
Lgg-

LL~
€eT-
bb=-
Og-
0T1-
9e-
965 -
[
g2 1~
Lg=

Ghe
wed-
TG~

Tee~
g0g-

6g-
L~
1%
9¢ -
L=

§UT-
84T~
69¢-
SH=

91e=

L

i6¢-
Go=-

6e1-

Zig~
Leg=
Le=
Tg-
cer=

L=
99¢ =
9eT-
LG=
€LT=

ge -
9¢T-
06=
Og=
Te=-

601=
Z8¢g-
4Z=

ott-
P

LE=-
hg=
TH=
BE=
6E=

Gg=
bhe-
0gH-
e =
L rAA

9

gHE= Ygk=
£3= Ti-
OLT= 511~
lel= 12~
Ti= #¢-
e2= wTlli-
Grl= yeT=
50%=- £GC~
Owi- sel-
Lyt= 1GE=
UrT= tg-
94y=  HOT-
L1T- ¢2l~
Uy=  ZUT=
gl= Lg=
Lud= G4y~
1= T1t=
29= 49T~
TeI= 9¢c~
Lee- ylg~
6E= G-
L= 49=
£65- LOF=
G9=  hE-
09~ GLT=
= Tg=
Le=  0¢-
Se=  ohi-
Sbg= kQh=-
RGgh= Q€g~
¢0g= ¢CL=
th=  ZhH=
GZe= Egh-
9 Y
SIADICON]

7L Cfe=
Le=  £h-
81— 4icdw~
gid=~ $i¢=
0¢=  Yw-=
TLT~ %92~
cbeg~ 10e-
QY= £Y9¢-
gy~ CL4~-
LuG= Lhy=
LET= G6E=
99=  LG=-
j¢= 8T[~
69Z- G9¢=
Ll= 9T~
9= 90—
ge= LZ=
6e[= 0T2-
12T~ 96T=
Tog= clg-
geT~ €E&=
64~ 4O
ThE= S6€-
Te= wé-
glh= G-
Th= 6&=
TE= <dg=
9TT~ G-
LET= Hni=
262= bEg~
€2~ Hwg=-
Tgé= 98E~
2Lig= LUb=-
€ <
ATTHNOH

T8¢~
Gh=

gLi-

oLz~
§9-
SHe-
19¢-
L~

9=
r6l=
edi=
vi=

9eT-

o=
LT~
vE=
b=
€idw

19h=
T9¢-
O

ogg-
g29-

T A
Ze-
te-
Gim
(A
96=
9=
Te=

0%T=-
T€T~-

T
v

tey-
¢9-

0gé-

6éé-
lg-
(AN A
Ted~
99i-

F6l~
Lbe=
Ly=
Le=
gee-

[ [0
1=
Gé-
&60T=
guc=

Tga=
iy~
8cT-
99¢=
346y =

6C=
6é=
ce-
Gc-
LOT-

Sov-
T64=
A%
[ A
TL=

V]

O e MO
@

LR AT S Tl

J1vyg Jg



9ch=  T0G=
19- Ll
LiT= L9T=-
gl= BE=
94T~ Z6-
QL= 091-
121~ Gv-
8- zéeg-
09T= 04~
€21 £9¢-
§Z2= h6la
Z0z= gbe~
?9¢- 6T~
g§sT- 096~
cL~ 9z~
gh=  9¢-
26~ e~
Le3= 04T~
gg- Tg~
LE= " ¢gC="
9ET~  GL™
c0T- 89-
g~ 683~
96z~ eLe-
0L~ LEe=
chE=-  6¥--
ZTT=- eg=
69~ cE=-
6t £g-
HG= Gl
8= Lg-
T66= LTL-
Yph=  £9€=
28~ gY¥e=

ATIVa €2

Bet=
59=

geI-

£T=
6l=
oce-
A%
gg=
Th=

Teo~
c0t-
O 1=
y9g-
To9-

g2
cz=
ch-
90Z=
Ze~

gT-

gi=-
0T~
291~
€8z~

902z=
gG-
8T~
6¢=
LeT-

tzl-
T9=

HZ6~
XA
626=

e

Lge=-
b=
#9T=

9=
g1

ge-
o=
95-

TeT-
g6~

avz-
9eE~

gg=
3o
-

g¥-
%2t
gh-
€Zl-
4E€T=

z6=
g5-
£g-
#€-
jwﬂ-

g6z~
wIl=
gZL=
Tg€-
6€5=

T2

652~
Gh=-

HGT=

g1=-
26=
£G-
L8~
69=
Zetl=

SyT-
giT~
0g8Z-
9b4~
TZlL=

602-
CT=-
o=
Tg=

TT=
LOtT-
L=
zéz=
£g-

gl=
B0Z~-
LA
8z=
[T

ECTw
QT+
Oaw=
BET-
Ove-

LT~

gE-

96T~

T~
A
9%=-
Lgg=
£a=
LgT=

06=-
e~
80T~
£0G=
TeEE-

T9h=
g=
L=
gh-
01=

2t-
Z¢T~
09-
Ctr=
6ET=

leg-
16T~
61-
061-
o=

0¢-

LET-
aTe-
"ZT=
g6e-

6T

cBe-
Ty=

LST-

v~
=
S1-
coeg-
Gg~
99T=

6=
Lh=
¢1e-
Liry=
=

g8y~
BT~
L9=-
T~
GG=

£z-
g9z~
O¢—-
gee=
9Te=-

0L~
66T~
Hh=
€9<~-
Sy~

9g~
zee-
629~
8T~
Li=

gl

the-
Z20T=

89T~

6T-
o=
¢T=
wiT-
90T~
£0g-

gl=-
10é-
Ly~
EEL L
G-

69-
GT=-
6=
Q€=
2eT=-

£9=

S8z-
L=
AXAY
TZ¢-

6L=
Tre=
FASY
60T~
Eg-

g
gee-
Na&.—l'
ate-
TL-

LT

gle=
To0T=

LI9T~

6Z=
6£9=
ce-
O =
€hT=
TLT~

£g=
9%Z=
L8T=
LT9=
hE=

LT=-
66-
Toz-
Lyg=
BLT-

0L~
gOz=
f1=
497-
G T=

8=
SGE~
64T
£g=
ZE-

wZ-
90¢-
cLg=
€L~
98~

9T

0Lt7=
T8=

BLit=-

Ztr=-
LT~
L9=
66T=
0Tt-
61T~

LA
FAC
[
AT
Le-

Al
9l-
69~
0eT~
60T~

9TT=
SeT-
»0T=
T
Lig=

Lo=
oG-
LgT-
€eT-
nEg-

L=

dle-
6Lg~
G-
e

ST

A¥WN 81L6T

£19=
gg~

£0¢=~

St
anT=
BT~
90e-
TL-
w61~

GL=
gle-
8=
65"~
1 %

6T=
0¢~
et~
£TT-
LI

Te=
go~
ZHhT=
16z=
9T~

G-
8L~
Tle-
40T~
GE=

Lz-

gly=
£0L=
Zeg=
GES=

71

Lyg=
# 9=

£9e=-

TTT-
€G-
60T~
2ze-
Eh=
SGe-

g6T=
Tes-
gE-
LeT-
BG-

6T=
v8=
€ZT-
0ET=
091-

HE=

LA
6LT=
NgE~-
¢Iz-

U=
b=
Ta%h=
06w
9¢-

6E-

LEED
Z66=
Oe9-

GheT=

£1

199~
£l-

AT A

S8
TL=
BET-
ve-
e -
Thg-

0g=
90¢-
b6 (=
0s¢-
09-

gT=
Bg~
bel-=
2eT~
9L=

=~
2g-
69T~
GLzg-
eI~

A9=
60L=
€8y
Th=
GE-

Zh-
L9¢=
9g4-
129-
2z6-

Zt

(AR
Qo=

G -

G9=
GoT-
L2z
Ly-
T0h=

mu'

26T~
LA A
EhT-
LE=-

gc=
gOT=
L9-
gL~
4e-

[XA
00T~
HTT=
(4
G9tT=

Og=~

cEi=
Lgg-
e~

kA%
GE-

£8t=
069-
Fghr=
Tiz-

QB9= Bgh=
0)- 09~
LET= O%T~
BI= 4=
T9=  H9=~
RC=  (Qtr=
L9g- L=
0TT= ¢9-
gleg=- 28=
4=  HI-
£€6T~ Lot~
96= (9=
09¢~ Le-
a7= €<=
0= Hg=
90T~ ghT-
Hl=  HH=
Og=  g=
¢i=- 071-
6= (I=
etT= 901~
ZL=  H&-
16= €61~
8gg~ C9Ll~
Ehr= Hy-
LpGT=g992-
66~  9Z2=
4= 907~
HE=  £g-
EH= ¢h=
Ls9= €o¥=
699= cL9™~
wle= Tel=
LGE=- ebC=
ot &

Lbg=
Of=

eLi-

GH-
S~
i~
61-
] 2
8-

w0 1-
THe-
40
9Ll-
og-

e
€8=
1€~
Le=
6t~

.&.H.'
7=
Gy
cUg=
IR

TH-
QLe-
-
L=
wE-

ce-
g< L=
61im
696"
Qo=

&L=~
24a=-

0gT=

LY~=
Zle=-
LT~
4~
Zel-
4%

FAC R
19¢~
g9¢—
Chm
G-

gg=
LTAS
/2 %t
i
€e=

9w -
49-
9¢-
ggl-
LT9"

Bir=
AT
ie=
BG~
g4

ceE=-

egr=
L85G
GeY-
Tde~

§o9-
¥9=

goT=

o=
£9T=
¥~
A
69T~
o4t~

61T~
68¢~
XA A
L=
ce=

6T=
[T
8g~
GLE=
§C=

Te-
011~
HE=
g9¢-
GLy=

go-
OpE=
o=
L1T=-
Ot =

Lg=
€9~
6gE-

9uOT-

Lig~

9

OG-
£~

C6Tm=

FAVER
tgc=-
L=
9Hr=
6b=
18-

gge-
igi=-
gol=
€TT-
€=

6¢-
ne=
Lrt-
9E T~
Ge-

T€
Lyl
Ch-

OGE—
Log=

Gn=
1T
6E~
a1T=
LE=

-

BLET
65~
09¢=
G84=

s

Gly=
gL~

c6T=

bge-
701~
6=
6=
96=
ye-

Tsi-
Gi=

GG~
£T1e=
631~

4é~
3é-
GEel-
Le=
L=

e
R
[4=
pHE™
b4hY-

L=
lege~
in=
9=
U=

9=
=oly=
UgH=
T A
¢g6=

tr

cot=
L9~

16T~

Lb=
Tgw-
6L~
&H-
gh-
LyT=

cEI=
A
ged~
gu 1=
LE=

1e-
1&=
Sii-
Cé=

v~

GC=
LT~
GE=
G6T=
za9-

T6=
ziz=
95-
gLl=
bt =

Te-

6TL-
qle™
LTT-
g9T~

€.

1S
B

et~

9re~-
8eg=
Ge-
h-
o€ =
gz =

€T~
3L
ihe
8-
Oy=

ge=
(A4
L=
g~
¢i1-

-\W‘Nll

gi=
Lof=
8%1-
Lié=

cE-
6EE=
04=
9g=
i

eh=
cg9-
6ly—
Fue-
g=

<

77¢-
Zh=

6¢T=

cLe-
299=
y9=
9=
z9-
8¢ T=

£k=
Led=
142=-
1%
L=

Q=
¢i=
Qg=~
gEm
Teg-

€=
89T~
gCH=~
yiT=
29t~

Gh=
gTe=
Oy=-
96=
9=

6h-
129=
602~
byl =-
og=

T

SADIANT  ATENOH v

rec~
A

LA

E N A
6L1
[g=
Gb=
Le=
¢le-

3L~
LG%=
iHl-
GGe-
ie=-

L=
Ge-
b=
9=
Te-

ig-

LST-
Yhh-
69¢-
95 1=

qE=
QL=
7e=
Eil-
Gh =~

e
T9%=
O#T=
Zug=
hg=

0

N¥ 3 (&
NViW 0¢

NY Jn

Tt
oc
&C
gé
L
9¢

194
#<
124
Zd
%4

oe
6T &
4l @
L1
31

LB B ATE X" o
[aYaiale)l

aiva qe

— 23 —



96¢- TUZ= #8T~ G841~ #2ZZ= €4€~ TLE™ WEE- CEC= 96E- BGZ- £0Z- 242~ 82~ TEE= 982= €9YZ= LleE= 66h= 883€- €9¢~ CTE=- 2L2- Lel= 2=  NVIW (S
ei~ 09= 9¢= T%~ 29= GH= gg= Qfe T9= [9= Zg= 2Z8= 8= L= Ti= (6= Ti=~ 6Y= Hg= 6HZT= S8= 09= 99~ ¢9= Z9= NYIAW 8¢

69T~ T6T- 98T~ 6¥T~ 6TT= 69T= 96T~ 6T~ »ST- Z¢T- ZhT= #9T- SYT- ¢pT= #9T~ T9T~ 6hi= £2T- 68T~ v2T- §9T~ 03T~ THT=- Wsl- €LT=  NVin

¢etT— gf- 9g= (- €v= ¢lI- T6Z= 16T~ €#T= GLI~ €€2= #8T= T9¢= TLT= 4GZ- &1~ F0Z=- 66C~ Guv= 97T= 98- [¥1~ &6= ¢gLT= UgE- ¢ d
veT-  S9l- 6967 T89=- b= TG- gG= G- ¥~ #g= g6~ 9g= 6T~ #Z= pE€=+ L9~ 60T= 090=- 9(T~ 9¢T~ 95= 8y= Gw= k= HE= 62
LET= 19~ 8gl- 26T~ G6= b= 06= pb- 00T= 822~ €91~ ¢2g= O0vZ« L¢T= 08Z= ZLZ= 09~ 0%~ 9L= 99T~ G91= ¢ZT- $9- &I~ U9l- 8¢
WET= W6~  HE= B6= GGT= $HZ- CGZ™ €9T~ T8B- 69= JZI- TEE= COHT~ Sh= HE= 9€= 6E=~ 96&~ §61= I~ ¢dd~ 88~ &€g— 291- €12~ Le
9%y= TIL= TOG= 9Z9~ BCH~ ©9h= Ty9- TE9- L¥9= G99~ GTG~= ZHG= 96€= GE¥=~ 6GC~ gTh~ b= CRy~ CCE~ 6£9= §B8T- woT= TUT= T9[= £9¢- 9¢
S6T- 9¢C= ¢4e~ €¢T~ GR= ZGT~ wlE~ 69YC= GZT= §Zé~ 84T~ GgZ=- €E€7— 20T~ Of~ LGOt= 08g= L£T~ #&=- Ge=~ THI=- 9gZ=- Ty~ €92- 661~ ¢¢
8Eg= LbT= 98T~ 43T~ T6~ G¥T- 212~ QLT= €#T= £¥I~ 66H= 26¢= 2IT~ 40T~ TEl- g6~ 8= #GT~ 9T€~ I¥¢= #0&=- O0C~ GHY= 6iy= Ggt=- {4
Lgd=  9o¥- 6lg= LYY= GGH= BZY¥= 9Sy= 96G- #92= €9= (f- Hl= €O0T~ €0Z- Z2€= €wE€= GT{= LG= 09= €9= gh= 89l- ¢4E= 9LE- w0l&= 74
€02- TEZ- #9= [Lh= bg=- GlZ- 6¢Z- 10Z= 99T- &TZ~ ZTHZ~ 98- B6Z= CBE~ RY~ 9= 9L~ 9ZZ= OLT- OL=- 8yZ- Tégf= GZ€=- 9L<- 90v- zZ
692+ HZE= (8= Ol~ Hhg= ZHE= GLE= 682~ LIC= $9%~ CBT= 8CT= HEZ=~ HGZ~ #wy~ [LZ= €£L= Zyl= 9Lz~ 064~ 496= Liw= 9vg= 9pI=- T&4l- ¢ @
O#T= G9hZ~ £TZ= JUT= 2§~ §TT- €€1T~ 2T~ 98- TO0T- Ti~ 90T~ 88T~ ¢CT=~ Hl= [E€T~ Z4T- &¥i- 9¢T- §€Z= 001~ T¥=- 89~ O09T- 8ge~ oz
TeT= 66€- $G€= #9= [LC= TG= €¥Z~ $9€= TGT= 401~ ¢h= HE= LGOI~ T9€= 242~ 6%T~ 02— Tev= Llg=- LZT= §%= L0Z~ 6LT= ¥Hi= Z6- 6l
9tl=~ OTT- 68~ ¢¥= GT= gl= 99= G8= BG= 2T~ Ll~ #9€= Z0%~ 9T~ €¢= GG~ LTI~ 96T- £97~- g&= LL- Ts= GG~ 2&0i- 4Ll- ¥
10T~ %8= gtv= 2= ¢9= 8L~ gb= [0T= [%= €G- 01~ €07~ OI1- 12~ 697~ 06~ G~ I8~ &E€T=- 23¢- 961- 68- 99~ L&= 18- L1
¥9=  G0T=- T1T= 16~ &ZT~- T8- 99= 1TG= 62~ @I~ +I=~ TB= L4T= 92T= Lwv= 4¥= 9¢= ZE€= HE= 4b= HH=~ &= BE~ Thv= ¥E¢- 9T B
ETT- ®E= LZ- 1= &T= LZ= 26= TTT- T%I- 9TT- €21~ 9%T= 2ET= 201- €Y= 06T~ TTZ- 46T~ 69g= 99Z= 09~ LE~ #eT= LEI=- £¥1- 6T ®
8= hle hy= 9G= €L= 06= G¥Z- LT~ LG~ TE- €€~ 12~ 92= HE= 9y= ¢glL= ZE~ €E€- 9¢= G~ 9Y9¢- Q8- He~- §Z- ¥Z- CR
EL~  EFT ZG=  gnt gb=  Hy~  GE= ZZ= 1€~ HTT- L6T= #2T~ €0T= O~ GoI~ &LT= 6Z= wh~ 1G= 8G= ¢h= ¢H= TH~ 0L~ 49= £l B
BTT= 4%~ 8¢- oL~ €9T7- €€2= C€C&= L22~ BGT~= bl= Hg= O8I~ LbC- £S¢= Z.T= 9= Teg= g¥= Ly= v~ 9¢= GG= 66~ [Lh= Oy= [
Tit= BE= (€= ¥€= 6T~ BZ- TZ- 0O¢- B€- €9= TET~ L9- +#G= T7E~ 6B2= 08E€- 96GC~ Zpet= TB= 69T~ ¢v¥=- 966~ 4TIz~ #Z1~ BH1- Tt
#CT=  LLlZ~ QOyT= g8~ TC= g¥= LET- €O0h- LgE= £GT~ TTT= 202- Tg= 66T= Z§T~ L6T= Gl= (2~ 62~ (&= 2¢- 6¥= 06~ g¥= UG- 01
09=  L¥= [¥= LiHh= g~ 2Zg¢= GE= Bg= TG= LG~ HE~ Hgw ZE= €h= HC= Th= §h= GCy— 08= Gol= TWZI~ GE= Ch= Zw= Zh= 6 0
g9T= L& 6= gh= Ll= 22T~ TOE&= TLZ= €CT= LET- €¢T= TI9T~ Ct~ g H{= ¢E€= L~ 99= T9T= hhh= €22~ §9¢= Hi€= 2ZW[= ¥ZI~ 8
Col= 6T¢= T02~ €8~ ¢82= OhC- OLHh~ €9Z= TYT= LHT~ TET= w4T= €SI~ ZCT- €11~ 89~ 62~ €E€= 0Q€2= §22~ §9= 9g= 6Ee~ G0€- wle= L
BET~ Gid=- ¢7¢= 08Z=- 8€¢= 00T= 08= H0T= O#T= TTT= 2¢T= 1TZ= €T2=- 8GZ= €9T= g&T~ $9= OG- ZhH= Y= Jh= Gy= &L~ 0§~ 63T- 9
€62- HZl- gEZ™ 9L~ L&~ 6= €C= 99= gE- Zg- 9€- 6Oy~ T9T- ¢6T- 2¢E€- ZO¥- 0Lg- BOG- Z8G- HGG= 06H= 0GL= 6GL= TO¥- F9E- s 4a
Q€g=~ ¢BG= €08~ [by~ Hgl= GIT= GCHT- GLT= FLT- L%~ Gol- 654 GTC~ T9T= 26~ 91T= 81T~ 9%~ Tg= #2T~- w¢l= 2wg~ 94¢- 691- €.- k4
€cT= 06~ 6t~ eh= HTT= 26t~ LGZ~ 89T~ g0T- €6= &€~ O¢= 19= 42Z= LZE= 98T- €92- 06~ 6= 4G~ gb= 6= 60T~ 0gE- 2= 4
oLg= TIT= %6~ 9= 292- 801~ LGS~ 4€6= €)%~ $G9= TTIE~ 98- OIT~ gG¢= 69~ §LZ= 942= ¢GE€= #0€- gOT=~ L@~ ¢H= Sh= 9= Ug= P4 q
Br= 0L~ L2T- €= 2E~ éy= TZ= Zg= gE€- Gg= 19 €¢= €§= Lg= g8= LZZ= 96T~ 88w LGT= 9= jZ1= LgI= 9G= {Hp= O¥- T
Alvo €2 2Z T2 02 et 8T LT 9% ¢T #T €T ZT TIT 0T & g L 9 - ¥ € 2z T 0 3lva QB

ANNE 8laT S3AOTANDL  ATWNOH TV



9Zh 622
n (43
T6T ecl
L04% LEZ2
6cE Tet
LSy %9
g1 [4:]
99 89
941 61T
TLT wle
€8 92
£e g€
BH [44
TZ £e
&g %2
ZeT 44
1¢e G4
6%T iGe
Lre 9¢s
Zh Le
] Ly
LLT [AAN
&t gL
8TT 1%
662 64
Lag 2rg
[4:3% 0T
T4T 62€
4 X4 Ix43
%#T¢ w8
18L [4:14
‘997 152
3] LE
c0T €sT
AT1vq €2

[T
1%

G6T

8gT
262
<1
60¢
L6

18

2Te
114
14
#e
19

€C
L0t
143
G587
0c¢

3z
LS
SEE
L1
7g

21T
268
0ce
€LY
s0¢

T6
9eH
6Ly
19

02

ze

(A9
LE

961

L62
LrA?

€cc
€6
9L

€91
e
(4
e
Gge

Te
9971
1%
6L

118

cc

9e¢
€cT
av

q6¢
L69
ggT
0eT
w6l

Loz
989
c9L
10T
Tiv

114

wig
0t

691
4
€01
90T
€8T

80T
¥

c8
9¢
U%
44
L1

8T
18
19
60T
Ziy

ka2
I8
E0e
LAY
L

LST
Tis
96
89
T6T

2ot
alg
hie
£01
T6e

0Z

6¢c
o€

¢l

619
Us
h6
co
63
TL

g8y
G¢
¢S
st
Ay

ie
1s
O¢
wel
£96

g€
39
weT
LL
96

TsT
STy
0ot
64

98¢

iL
L8
19T
0¢
0l

6T

Lty
147

viz

0L
Lt
<62
LG%
Ly
66T

Lge
%6
Q1T
91
ST

€
66
L2
41
¥09

8¢
13
59
et
SL

L9¢
6089
Y
(4]
49

€6
zoet
LT
1€
Ly

8T

AUYANYM

F4G
LS

lsd

€el
97
149
8ty
(5%
(14

662
114
16T
9T
414

he
4€T

he

00T
Lgg

119
T4
09
£n
§6

174
LAY
L1T
9L

Lyt

092
98¢eT
66T
134
s02

i1

HZYy  byw
T 62
we7 £¢?
856  €6¢
¢ hs
L9%  +He0T
66¢  Gg1
&y 9¢
gL Os
agz 102
96y 07T
4z  zz
9T 92
T2 T2
6L 081
66T 21
14 20T
28
Z6g  Log
e¢ o€
8 Lz
Z6T 20
€c 62
YT ohe
€L ET¥
99¢  L6T
blE  €¢6
C06  L9%
TTT 00T
642 L
ZTOT €16
€2z ¢6¢
v 6h
62T €6
9T ST
gl6T

%06
gz

T€E

009
06
0ZHT
96
LE
Gi

9l
D8
2z
1
0e

[4:]

Sed
681
[41:91
nTe6

Y4
e
g0¢€
44
€ne

sl
€2
cheE
6971
43

€c
6L%
297
84
LA

1

Guy
€

3.7

Boh
€el
68y
19
ac
L2

o0¢
0¢
e
06
6T

ETA
444
912
4%
98¢

8z
Te
a0¢g
(¥4
CET

69
01
697
2al
4

607
L66
LET
g
o

€T

96¢
13

561

ZLG
¢
wge
00t
6¢
9¢

19t
29
LA
y6
62

114
L6
L1e
T4
SHT

el
149
(41
LT
w9e

7
0871

LET

8¢l
(44

0el
el
L
1L
49

zZT

car
<8

Hih
(431
GEy
L
14
soT

q62
84
52
7L
T4

14
gL
(43
ve
L

66T
L
Gt
0z

09z

Wi
LATA
Jg9e
€4t
1¢

gtz
Z2707
29
€8
LS

Tt

326
L9

LBE
T68
69 L
94
£6
092

¥1e
¥q
Te
(1)
62
4
LT
44
(%
1€

LEAN
69
Lee
T4
[

01T
Le?
gL
4T
ot

Tz
20L
Bz
8%
(4]

ot

T4
+4

90¢

T4¢
81t T
9LG
84T
4

49

66T
eet
0é
40T
12

€6
6LT
A4
£
[s1%

zol
oT1
6T
z9

HTE
g62
66
19T
L2

TiE
948
Le
BL
09

&Ly
29

€S
838
199
s
G
0T

19T
99
97
6TT
£C

LAY
6LT
HGE
44
Ze

T¢
(A1
7971
[¥4
SL

€Tz
b6t
€9
0T
€9

LA
112
4
o
a9

€99
L9

To¢

654¢
£201
€95
&01
i
0T

6eT
13
LT
81T
6T

09T
T0T
Ti¢
6%
9g

LT
L9t
¢6¢

911

R4
€€g
15
&%
121
£2¢
24071
14
ge
g9

164
yg

6T

70€
(42
874
c8

L9T

LeT
49
€T
76
2T

%LT
St
0t¢
%6
%

91
6ET
T4
gl
LT

elg
v02
B
g
702

£HE
TI0T
Lg
&9
9

La7  LIv
Le 12
#61T  L¥wi
ga1  del
2le ¥l
&6y Uge
g it
36 %]
Tl wel
14T Lg
9 (619
g w1
g &1
el %1
Ly T4
1¢ 76
628 ZLE
TTT Qs
1% 6T
Lé |4
9 (29
40T 6L
91 24
aTz Tzl
BZE U9t
g27T 2¢l
3 c0tT
L T4 19
[A XA 1% ]
gSy 619
Bea  whG
LE b¢
SGT  0LT
64 Ty
[ L)
SADIAN]

Sy LbBE
14 Le
08T €87
ol w0d
2Tl 6l
BY 8ZT
[49 Eks
8L Sl
ToT TTC
LE LA
LE 8¢
9T LT
2 6¢
T 71
81T ve
98T 0Oc¢d
626  Gd9
T€e  90¢
6T Zc¢
1€ 44
Gt fA'RS
vz <ol
621  o¥
6C 9
TL% 089
CET 922
L8 L1
9 6%
%9  nel
w2¢ <uh
Lygg  Z09
T4 f4
€6 coe
[%°] Sy
€ Z
ATHIOM

ggt
{423

29¢e
{g
14
8y
Zd
90w

o
6¢
0e
o€
9T

I
L8T
69¢
50¢
&e

114
L]

[A
e

0La
241
329
9

gve

LGL
Lic
9%
011
14

T

ELJ

L9G

£€
§e
ve
|14
ue

3
13
08¢
EARY
11

LT
g5
19
1
6¢

glg
Zol
gl¢
cel
TL

0gb
(3
(%]

ewl
144

0

N ET
NV iW

NY Jin

as
uge

e 9

@ &

ae



Ly 692
TL 1]
TN A ¥
8tg 12T
9¢S 642
¢Ty 082
195 S £
$6 g2
8¢ Le
9vE %9
00E  69€
zgz 002
gg¢ie BLE
HlT  BEl
€cT 691
Lgz gty
20% 6%
66T  TEw
¥51 €4
TET 6L
9¢ 1z
Ll L2
9g¢  €€¢
®G6E are
oL 44
00¢ 19
209 ¥LZ
11T 66
€Rz o4
6LT  LET
gz T1¢
AIVg €2

19T
44

GHE
99

g€

#Z9
2es
6

c6¢
T
84
092
209

(A
r4:1%
19

0sT
364

#9
£ve
99
x4
T2

of
[+ 1°1%
v
18T
8

154
(49
16T
L6E
6L

T¢

664
64

cLE

66
666
759

691
12%
&
98T
769

961
68¢
€L
611
Gyt

€9
z071
561
8Le
92

56
60
GLeE
08
08¢

TeH
1T
9Z¢
6%
(49

414

iy
78

Lie

ttg
cTL
F4:14

99
wE

6871
669

Qg€
Lgt
01T

616

Ly
59
i8¢
98z
Uz

ot
vEe
76¢
2T
i0g

Gyl
S¥
geT
76
TeT

6l

9% 919
ZeET 28
6te 2¢t
8g6  1B6
Lsg  Lgl
#EL LY9
12 e
o TL
44 e
€ey  9E9
6€9  LoB
g 6i¢
LA T T4
99¢ ez
91T 19
I 98y
19 4¢
b LLg
G2 w9E
8Ty THC
ze 19
e 99
¢0¢ 98%
6Tk 629
LZZ tal
665 2lg
T8¢ leg
(44 oy
IA-TANNVA 14
LOT €%
GbE L6k
8T LT
Adynyg3a4

6Ly  6¢g
68 %9
#0¢ 192
€58 LB¢
G¥TT 16T
969 9lg
Z€ 8¢
22T 18T
44 SH
4€9  Tlg
261  GI¢
96T 8L
slg Llg¢
1Y LOT
9eT T8l
Ly¥¢ 062
LA 4]
w2e dég
gE¥g  W1X
ELT ¢¥
o%¥T %¢
12 &I
LTg 91%
Z6%  9¢¢
¢eT <2
02 90¢
864 €49
B4 BEZT
6GC 219
8¢ 8¢
LLT 66T
9T aT
gl6T

11w
0¢

§ce

sac
€9
2l

1%
1zt
O%
cee
gee

w1
BEE
wle
1L

Z1é

w1
82T
LYy
S€
e

GE
36¢
Bgh
49
%¥G6

[ 19
98
991
Ly
§Te

T

919
]
OLe

{544
9627
GLL

N6

&CT
€11
s0¢
LeT

68¢
Oge
9.2

{6¢

88T
GOT
Le
(14
T2

8z

869

L11
¢
¥ET

TLe
BOT
LLE
LY

LEZ

eT

e
74

8Se

vih
6vy
BT

€971
L1e
9

Ts€
Let

icl
98¢
11t
gt

0ge

€41
Qge
8¢
€€
zZ¢€

£c
€9
T0Z
LG
TL
4
4
8¢
IL
44

T

10%
Gé

L T4

j1-1
Gel
6%1

Ihe
0%¢e
78
¥8
11T

66¢€
LA
9¢T
G4

chh

T&TT
506
9¢
1€
¥4

L3
qo8
€6
09
d8

Lew
4

6GE
60¢
ETT

Tt

£re

1174
LL
80T
6¢
107

Lot
6LZ
ac
Gh

gl

09
G9)
GR
o
€b

60¢
o
96T
982
o

0T

Tiw
TTI

Tel

EgEh
Tev
gle

(4]
2it
€
98
it

26T
T4
BT

Z20¢

oL
£sl
L9
0%
TTe

665
98BS
9271
1¢c
gh
L3t
ZET
91
&60¢
19

qLe  Hlw
59 Z9
261 21¢
Tey 246
gvT Lt
06T 66T
ST 0¢T1
76 607
A 9
L9 LT
(4% €6
6RZ  BlE
gt [¢1°]
LLT 2ZRe
9¢€ 6¢
89T TT1
690T LgB
T6T 411
96 k6
I+T 202
80T &8
Z9 0%
994 GO¥
€12 ¢t
44 [24
SL z6
ehe  9Th
ZeT 98
¢hZ Gue
LgZ s2d
9ZT <dl¢c
8 L

c8+y
[+14

261

wel
ST
éoe

coe
G
ay
68%
el

(4013
161
6071
ol

(R4

366
e
s
9¢
g9
G4
65T
691

14
7871

204
86

612
el
68¢

6G6%
ge

oLy
e
1e€

e
gt
09
519
€8

A4
&60¢
Lal
8L

CﬁH

616
A
6
&¢
ve

4
9
Y]

G2

16

Bih
607
61d
44
91

<

S3DICNI

Tot
L1

5LT

LB¥
64¢€
Ted

14
e
139
LFAY
10T

(¢
Yot
Fe¢
LeT
49§

79¢
weT
#eT
LZ
a¢

Ly
434
Yé
T¢
Gg

oFA
991
6Ze
L6l
Lic

k4

L3E TLE
[} gy
6LT 69T
€1l %9%¢
2.1 &0g
zeg Lle
8¢ %
<9 3¢
8¢ ey
95¢ 00w
19T €%1
gLT  Lug
7ee  BGE
29T 1971
aee 2oy
94 Lé
coe  40¢
L6 BOT
Lol  €%¢
6¢ 12
67 Le
ch L9
Bg L 25
2eT el
4 Ly
g% 9L
164 cEy
LLT &9
Lot LO71
991 Lvl
Gr1 897
4 Z
ATdNOH

wge
6L

#G¢

161
4%
Liy

eL
83
99¢
Lit

£6Z
66¢
88T
G6¢
€6

967
T8
201
1
wh

estl
891
b

16¢

tel
94¢
wye
€82
€id

1

av

STE
oet

gte

491
26¢
eTe

£t
&9
et
v0¢
1% A0

e
79T
&gl
Itk
GG

205

711
101
Ge
09

8¢
w6
Ly
wh
g6

€6

e1e
veh
Bot
=34

0

NY3W 4%
NVYAW 8¢

NV 3w
9

Lé
Je

[a N alyal

s¢
#e
£¢
(44
1é

[agcie.

0¢
61
81
L1
9t

ST @
g1
et
¢l
T &

0T

OO
@

LRI AN i Tal

31vd dg

— 26 —_



1a% HgE
o] g6
1314 13
681 881
e €9
[ %44 Ghe
842 69
5%9 8G9
L9¢ Z8¢-
8% 9%
6 Le€
0Ge i
vae (4%
€471 %01
1 €wl
wlg 3¢l
Ty k44
L0y 981
66t 1528
¢6eg-  Qég
€91 <6
a82 9Tt
Gy 0¥
0Tt 6%
11 14 82
6Z¢ 44
igt #9
LA Gt
Ls 9z
LT 44
134 oz
Lée L0g
Lze 9ez
€94 ove
ATivg €2

Ghe
89

et

(443
65T
681
Ly

LS
L9

&6
t1e

ov9
26

16T
vel
184
eyl
IyE

6Le
LY
(4]
43
19

8z
g
&6
ST1
9z

6¢
91
9
Q81
9%

(44

6¥E
4

GeT

6t¢
%71
ge
119
ave
1 4%4

vy
aeT
6t
L6%
9L

0zt

LT
4%
¢1¢e

462

tée
oz
g9

Ly
L 114
29¢
€&
61

26
8%
M1
T6T
6%

1Y+

£8g
69

€92
87

561
8%

18w
eaL

i
60z
Lad
0%9
€g

202
Q9

€27
6¢L
LT

€9
1T
<9y
T4
%9

601
09¢g
988
0g
Le

is
61
(319
iy
(441

o<

GGl

ayT
88

LT
0L
227

(%8
BiLC
64
Ly

£9

9L

oty

STL
c¢
73

oL
Lz
134
0g9
91L

61

59
#0T

+9¢

98T
08
L9
0el
Tis
ote

O¢
€51
6%
slg
€S

09

#1T
66¢
09¢
69t

9T
#0¢€
-14
04

10T

LTt
gel
964
8y
16

Tce
Lg%
114
BLL

81

294
¢T1

Lye

68¢
6T
0¢e
iyT
g
#08

8t
£9
L1e
o0t
)

eh

00T
LTS
sL2
B6G

¥11
Lg
0&
8¢
L7e

vl
96
6uT
0é
6L

#iy
¢

Lie
Lee
€58

LT

HOHYW

ylg
91T

Hlz

cah
GLT
106
LAY
L6L
80g

9
e
LZ1
021
64

T8

1349
0Ly
$84
LiLG

TLT
60T
44
6¢
0T1e

8Tt
86T
12

99z
A%}

Lz
9%

6LE
ove
€9l

91

€99
9L

T1€

Lit
<L
L8
£E€9
996
L9¢

gt
2y
66T
9T
Sy

L9

816G
cZ8
LO8
Toe

w2¢
LLT
4
¢
91

eeT
#Te
OyT
LBE
SHE

éiz
LA

i8¢
0ve
666

61

BLET

£€EG
60T

TEE

€92
892
12
108
Ogsq
#E9

66
qh
a1
F4 T4
19T

(134
0%
#8L
49
HEG

cel
gTY
00t
Ly

91T

66E
96
68
[41:1%
253

b4t
ch

oL
€t
Te8

%1

A
#Zi

0te
£68
(949
Lgg
9¢8
T19¢

89
0¢
144
(874
662

0o
&Ly
L
g8y
e

102
BiE
12¢
Bg
]

4"
w8
LI
CLE
w11

Lbg
Ly

e
€8T
ove

£t

ise
weT

g6¢e

2s¢
(124
9Ly
9ET
6GY
LGT

i
oy
SLw
€91
139

Tee
819
el
%Eég
el

0Lt
[£2%
T6e
L
86

859
et
LL

Lat
By

weG
LA
19y
1ve
LL

A

4Lt
001
652

el¢
e0%
It
36

G871
oot

49
Ly
Zve
7el
414

8T
£hg
606
Lee
191

£81
987
0tg

(%4

L6S
oLT
29

392
gLy

£1E
Gy

L5E
41T
€6

T

Lig
A4

(9e

6L
SHL
gLy
04e
016
I8

Ta
+q
0L
T16€
whe

&9

Z11
1
el

o8

iye
19
98
A
8TE

691
0w
34
122
14

wGe
€9

£0t
8LT
28y

0T

315
&6

ZLe

5%
sel
€S9
e
€8L
89

0%
[+19
€%
9Lt
%62

¢ET

956
61T
c071

£t
2
clg
19
zee

09
€Ly
15
z26
&%

[ 4
L
ew¢e
168
289

ey

194
b¢e
2n
795
UET
£g

A4

g

0T
EAA!

ULt
99

¢Te
teh
LLE

LA T4
£S
Tvd
46
Te

954G
6T
1%
84
ey

9ze
€h

91T
26L
4ed

Og?
oL

0te

£9

GLY
AT
LiT
T8L
R4

oy
B4
107
e
1 %4

TGTT

96

%12
[29);
Giv

9%é
s
T##®
L9

#ZT

96l
171
114
&€
(4]

L1T
e

[ 331
0Tl
€81

yEE
L

70e

¥}
0Ty
Bgé
6l
269
3¢

11
941
92z
€€z
L6

zy
8z1
9uT
T<e
667

Lie
287
62§
L
£y

06T
Lzé
a8y
96
£1%

Og
O
0g¢
Tve
ezt

LIy 0%¢
[ iy
Gge 661
w9 4]
AR -TL S 4
#%T Ghi
80T 6671
FeL ¥9%
0[¢ 9%E
44 le
.84 a4t
462 1wl
§0¢ 621
¢eTe Lol
0L 9L
SLT 12w
UkT  LTT
GEG  9gh
T6e 964
986G iV
oyl 96T
gcotr  OQF
(49 Gk
gt £g
4 9%
y9¢  Led
6¢ TE
6LT Wg
‘T4 24
49 62
[ 19
gLc #¢l
et  zl¢
g8¥T 911
G 1
§3D1GN]

ZHE &l
7 6¢
w0Z  Glid
Lé 8%
Tze LEC
ined 20T
Toy Tig
[T S
EHG  Ef9Y
[ %]
Ly Gy
g6 [4:3%
g LA
LET 09T
06 €LT
T8¢  66¢
£2e  TuL
¢he  T4¢
00y BYE
2 e
ol T2¢
[ iy
119 43
09 L7A
6y g€
0% EDE
49 43
19 49
(¥4 o
fX4 Le
£q (%4
gZT <£¢é
69T ¢d¢
2 99¢
£ 4
ATTHNOH

QO
8e

0ece

L1
98¢

691
£6g
ByT

i
iy
36¢
L
gl

981
06t
209
[0
geh

gCy
64
39
4
3%

Oy
(14
43
09
e

gé
g%
5T
L1y
oty

T

L

o6t
9%

61

ig
Ld¢
L
0le
ues
L

4G

414
gL
LT

L1
1%
4T
£1w
304

g4l
9471
€nt

9e

Ly
801
6¢
St
113

44
49
Ly
96y
Led

NYHW 06
NYdW 06

NY 3w

1t
1%
&¢
§¢
Lé
g¢

[°%4
weé
|4
44
ic

[=p e fayat

14
67
g1
it 4
5t

8
#1

[

[agat

EFR ORI



¢1¢ ¢LS gTg  Liv gle 8g¢ 91y  T%S - 921 LgG géE €gv ¢ 809 T19¢ 8GE €0¢ 92w gwg 099 2T9 0LG LT9 €£¢2F  Jeg NYdi Q%
eeT | evt €41 12T w417 4&8T 1:1 91 T8 g9l 26 0IT  Lé LTT LeT 9T €%1 +2T 10T w07 w2l ¢l g4 ooT sl NV I DG

#8E 9EEL  46€ 90t T892 €87 €82 €Z€ G0E 6LZ #4T2 O¥Z LGZ AGZ w6z Q€T wdZ Zed d&z 8¢ TTC  LuE  wse €08 gt NV 3
099 0Le 660T €9 €92 @01 O#1 6Tc 6H8T w641 9H0T 668 HE6 4GE8  GGUT 606 GEC Hev G8% #0G 094 #I¢ 0e6 Liw  W0w uE
£ 74 6% ¢TIy 06 @by 09Y #9% HHE wET 64 96T 61¢& L¥T wo1 481 6&H€C 9bg 66T 90T 9¢T LIT 9L ORT LTZ vl 6 W
e 9te  Hg¥ g9¢ 99€ 96E 60T LT WLT Lv €¢T &0z 2ue LT TL 0€Z 06t 9Zc¢ 19 oL ¢1E gl 9w w0t Lew g¢
1149 Le9 98¢ Lleh 697 L¥Z 0T¢ wev (064 9¢k §9¢ 6EE  ZT¥y  TGE  wew  Z€T 9§ 990 LTT 992 9d¢ €66 G%y  Su¥  Zic L<
9%¢ T8y Lew  Z6E 997 6I€ 9y g6c  HLT 24 00T 16T LgE 28T ¢d 16 216 wEe TZL 9Y8€ &Lk 099 E¥s  GST 9L E1A
g6 16T g2z 9 i 90T 99¢ 69¢ 64T T9T 8T Te& gT# 292 2¥% €HG €%¢ €0¢ 40T 06¢ 90¥ 86 1YL 22% 1<% 4¢
30¢ Z¥L 96T 08 <€y 98 T0E 969 €99 G99 Tiv € Zhv  2L9 46 €29 UE€S  T6¢  Led G¥9  LgY  Tue  UGY 284 60% we U
(444 069 16L LLS g%k 9% 6z Y27 L84 G$98 (067 29 g4 302 2LZ SIS Ghy  €9C  ¢9z el g6 012 sU¢  HEE  eUT £¢
60T g9T  TZze +Tv L3T 96 6 LS €L G4 iy L9 w9 6L LY gh 1w Ly £¢ Ty LT 201 26 w21 LiL 4
617 TH €6T €T¢ 60¢ 6€T 21T 2¢ ZET 93 TSE 24 66T #8 09 66 - LOT QLT LeZ 6712 7l 96 GLY  Ll0Z  Liw 1e
TEE wly 649 gUC 24T dT2 64€ 182 €¢t +He6vy 8GZ  TLT OIT 46T 9¢€ ze¢ #¥8L C6 66 71T 16¢ #0¢ €LG 8€9 L99 0¢
6LE  BOE TET GIT 0% 08 2TS 98¢ 0L9 068 9ve €16 €2¢ 298¢ G6T HIZ €9¢ w08 LEG 6.2 LTT Lg  Sv %%  #% ol
9z %9 96 glZ ZTLT €£9c ¥ZE€ HST 00T €TIT 26 66 €6 62T 21 60T %61 §iT Oyl 91w gL T6e G9% IOl &L g1
117 i 1s T+ 8¢ og 0g we 0¢ S (27 49 ¢IT 0gZ 2T¢ #wet . [Eg GTIZ ¢€T Gel ¢e 6L 9L <6 091 FAS
LT 16 Z6  ¥¢2 962 29T L¢ 6% 44 % 94 Za LeZ 1T¢ veZ 91T Te g7  LTIT GUT WG¢ 102 Yud 488 €y G
T0e  weT 08 28T 9TT BIT 49T €8T 4§07 26% 02 Gef 9¥y Hef 00z Gye 8¢ 298¢ (¢8Z €9¢ b&E cee sie LI9  4dy ¢t
yGg Té¢ 8TZ o0Te Tey 626 1Is€ 90¢ G0¥  GLg 962 Ll 9TTIT 082T G968 9Z¢ L2 €8y LvS [Ty €96 THE 619 L[99 dLG %7 4
Toe evB  ohg 94¢ iy 849 wyBe TT9 0L¢ 166 2¢% OLT &€ 6¢2 o¥g 8IE ¢iez [e€1 716 64 UST  6L2  dvL Le e €T
WA ¢Te 002 ¢T¢ 0Osz TTz S9¥ zZhe 81€ 9.7 98 €i TOT 9%z w9t TY¢  ¢9€ oGy 6¢@  ¢<4T  Lel ¢IT OLe eEY  (ww 2T
9Ty . ZIS 66% €SS wZZ 69€ Z¢v 6ZZ Z6T 60T TIT OL G5 W02  T9¢ 6T 9Lz BLw w&G w6l ¢TL g9% -dLL G001 8LL iT a
6T 6TL 666 ¢S¢ €02 20T LLT ¢€T% 992 96 FA S 79 ng 99 9tT S G9 64 #UT 6L 94 94 LG Uy 0%

G6 IR 95 L% 09 €L 69 Ll 8L 48 0TT  #6 TL €6 LTT 96T 84T Cel (vl 6w shd w1t wIT €9 89 6 9
88 §9 gL 8¢ 80T LOT 662 ¢6T €y ¢9 £9 ag 6y gl T¢ 9% 9¢ 4 Zi 20T 92T L9 4 T°L 8; 4 o
99 TL gTT 69 L9 €0T sg¥ 27 %% 01T T8 65 *9 19 19 16 0% Qg €5 Ly 6€ Un Lr £g FUT L
€T L2 h €y T9 0% Z% #0T  A0T - 29T 99T 422 9ST 44 261 LLU g Ll 66 ¥GE 02 €41 TOT  #LT 9

Zte T€T @0t 08T 9¢4 €gZ2 1% 16 ze Ll ZL X St Gh w4 Gl CY 991 (%7 H8% . wlC HTC  g6r HLt  #TL 4

691 Lveé &89 808 &g s80L O+48 646 86v c¥ 99 Zy 18 X 6R &8 ce ¢y 006 964 Tes ¢hy ¥I& 4T9  Lg9 9 a
994 Te6w  Z69 HLL 90§ 1T6 &L 028 2Lg 6TZ 697 L9¢ ¢06 €06 ¢iw 0LG 122 $8E 0L ZL9 €6T 09 0L 0y tY 4

oze TTT szv 20% B¢z 9vw 8¢E g8Z LTT 9% Gh sTz  6%€ 02z Si 16 94 19 14 Al Sel  uwy 62%  cHe  19E g

ue 90¢ g0z TLE 99T SZT 6LT 0¢e 2tz Os 9% O¢ TH th 62T T#e TUz HeE T6¢ Llev 9936 60% Zog T#d  LbT 3
A1IVG €2 Z2 1e 0¢ 67 81 LT 97 ST %1 €T A 1T 0T 5 Y L 9 4 t € Z T 0 3Llva ae

TlHdY glel SIDTANT  ATHNCH 3V



ocL %05 919 HT9 464y 626 964 T6G v Lkl 696 TTET 60TT 198 wie 608 6L WwEY 296 H98 odl 2v9 Lé6y €Ls  9iv NY3IW A%
et 66T 927 +<¢1 86 06 6 G9T 09T O0ET L0T L€T 64T 2€T €61 OFl 46 90T TeT 421 Tyl L<T L4 2y ot N¥dW 08¢

0i¢ 60t 6T TOE 662 962 L2 €82 98z 1Tez 02¢ 668 I0% GI€ TI€ 6%¢ w¥g 90E 8€e 6ge JCE  yed 08  Lgd 96 NV 3n

€871 g4 Ly 44 14 9g €6 94 TL Té TIT 72617 €92 4% 16 36 Lil 20T ##T €2  uwgs (€ 9u% Gws%  vu§ Te
99¢€ #EE  €LT  BL 90T ¢£12 28 gy 60T 6T o0€z 3T L8T T8T 89T 6&%2 by 984 &0+4 €9 943 T88 266 Zo6 66w 419

(e1 94 Z6t  2Z¥ w0% 062 6ET 99 Zh Lg 96 89T 56T w2 wi¢ Tl ¢d 29 16 1% 66 d " G4 08T awl 68
Ted BET  TTT €6 €22 Giv TIS 6€€ 182 806 ZTe 8LE L¥¢ TGE 00w -6wZ 1T 49 89 cul €TT 91l (11 26 0le¢ 8¢
gaT ®8¢ 08T @eT 82T 90T LTIT OQ9T G6T €61 LOT i§ g6 0T 89T ¢2¢T TOT #¥d €82 LUZ LT #HET %y 0¢T 90l Le 0
gid 6L 08 ovT 162 L6Z 98 GZ€ 047 462 6L2 Tet LLG LO9  6¢9C  gg£& 9L Ly §0g C9T €1 w2 LTv 6&vE €LE E14

(4 %4 gE€y €69 9l¢ 892 697 1w L0T 4T (01 TeT 90¢ 927 LG 6L €L 902  LEe 49T L6E G9E  gwz 06l GET 226 G¢
(414 €E€ES  g9e2 S0Z 89z 60T €T Z2et  ¢Oy  GeT 00y G0L T0L GGE€  £Gg BYG &TL LOS #<v Ore L6l 8¢T  wlg  Te¥  oU3 L2
wHE gly wze 1w O6% L92 GSGE€ ¢I¢ Fe¢ 68T w¢l GGT 6e€  J0c  Tgd 987 SIw TYr  Oww  T&¢  wg&  t9w tuv 116 deb wd
6ct Og¥ gé% T%G 6G;p ¢ZiL 0fp 0168 6le 806 666 6% &I6 RgZ Q®g &t 16T 9LT t0z 80& ge€ Gid 6Ll L91 HcG 44
19¢ eTL ZelL ¢¥8 0ceé 989 €9T 6TT w0T G%#T 6¢l €¢T L¢T TOT 2w LL 5 4% 49 gL ZE  gsZ S8 99 6% Te
76T 48 98 9T 664 99L €vL it QL 0g 44 a9 gL 9L el GL w9 901 LG a4y 99 Ge #G 66  €LT 0e
€01 L Q9 s 6¢ LE €5 % CH T1T 4#IT #6% G0T g€z C<¢2 9g¢ TgT 98 96 L3 ey 9L G4 4 66 et
ByT €L c8 00t geTt 69T g&l Oew 2S¢ 29T 991 G6T¢ 692 LT H9T ¢E&#T 9&i 66 €Ly 262 2LE 667 99T 69 ¢l gl ©
L6T g€t 64% gEb €617 GIT b €% . TOT LBL[ 'T0¢ 10z €L€ 98T LLT 20T LgT Te¢ 92gs 168 161 uv 6% 9 izt Li
ezl 68 €8 g8 19 LL 291 GLZ zZeg €02 @BT ghe TIHT 11T gL ey 65 94 16 g UTT 96T LLT W%é €L 9l

16 IR Q9 gl 4L 69 1] OvT GeT 281 €IT &1 921 (6 cgl 8¢ 44 (47 1g 47 Ly I3 €9 98 Q9T 4t ®
6¢¢ 96T (Zgz 26Z T8z 6%t 9lv Lev &T¢ 26l 12T LIT 6TT 9¢T gwz &IZ 46 ¢l 892 99t Lle w9l GE¢ WOt 9t w1
68T  LLT gge LIT g4T 221 L9 €7 €6 GET 912 TEz €06 &Iz 19T 09T 0T 16 L oo wl €17 €& €el Ll9w €T
2e% w04 €BE wLZ Ll w89 696 90w gl 2e7 €6f NS 9ty kel wNg TLE BLw LBE 659 Lus ¢9v 4apE  OWe  0ge  Tat 2zt
#0¢ 08% 216 LTE€ €6T 26¢ 22L& 8Le TIE HlE 992 Tht G2& LZE €06 69€ L¢Y +Hw6 TZ8 2l 0cll gle 60& 62C 96€ [
LTT 66t ZBE ¢9T zl1 %9 BOT 61T LET T2ZT 28 26 #0T 16 zZ6 €9 €5 Ly LS €9 0oL 8 z9 06 td, 0T
€9 €0t €gT O¥T Bl HGE Q% 2L9 TLL 086 €0TT 2€2T #0TT €Z0T 9TET Ho€ ZRG LE€2T 810 962 LEY wwh H9s H2€ 68l 6 d
w02 T9T 90T 63T %91 €TT LCT ®9¢ 9%2 Tel L6e E29 68L Z€9 8sT 2§ 9% €5 ZL owy TL w1 LET w6 96 8

L9T LOT LeT <% 66 82¢ ¢€eh @6T LLT L8T T9T <COT ULs 0# Z9 ovT G667 &T1T UgZ sé2 8¢l g2r GIT QLT 42e L

9L 29T g9z €12 96 &L €9 L L 2y LE RG  0& . 6% gh €% 9% 6% g% 06 L9 8L TL $9  Zd I
€8 g8 00¢ 206 LSZ Q¥ 8¢ i ve T 6¢ 4E - 6% T+ LA % (49 LE Ly 6% 0g gy LA T8 LG g

SoL 68 #TIT 0Z¢ 092 &3¢ 9.6 ¢€vS 666 019 SBL 6¢0T L&6 T9L Lleg 0L (98 92ZL 496 <c2e%l THL Het 686 Bgb  HEL ¥ 4]
£Té6 LBB  TeTT QCTT €L8 TLE 266 cbe TLZT ¢92T B9TT 660T €66 ZH0T S[O0T 940T STCT ¢06 619 LTg HBI9 g8L 609 9Ly ¥wit ¢ d
899 OLS 2wg 989 292 9¢e OT¢ 2LE 82% Q26 6%6 LL6 L66 098 goug 606 &TOT Tee  Twyl Gwe 2Ly 682 ovg 0L9 969 4 d
9€L 9Ly €601 9007 Le9 TZ6 H%T2 9LiT 68T +#Iv 26L 6GLT 89GT 069 G088 TIwée ¥e% TLG 066 ¢€LTT T60T 9v9 6.2 T6T. &gl T a

Alvq €2 ZZ 1€ oe 6T 8T L7 3T &T %1 €l T 1T 0T 6 ] L 9 4 ki € e T Q 31vy QB

AVW  8l6T SIADIGNL  ATHNOH 3V



16 gle  62¢€ 9e€  Lz¥ GE9 969 919 9&6 049 608G 0%¢ €Iv 096 Z¢9 666 OTC 00L 908 g4y LS LEg  6gw Lwe TV NY3n Q¢
auT €sT ¢¥T T2T 92T 90T €%T €¥T 10T TIT @27 06T 86T #eT €67 B8T¢ 96T Ggl LST wé2d 2LT €11 o€ wvl pel NVIW DG

L0¢ SHE  HEE THZ  $92 CZC €LE €GE GLZ TST €hZ 0Lz w8 LEE 2EE 2EE 6ye IC S€¢ wT€  Led ¢le w0 L9¢ .Zek NV dn

L6 29 09 19 90T 69¢ ¢tg #8¢ 20c 90F 96 €BE ZLG GG 6¥9  6LL €8y 619 gEL 2L 60T ZTE BLT ITE  we9 2t @
9%z  #Ti1 '8¢TT 986 092 9T €9T L0T 207 OT1T 86T ¢&1 66 €8  OTI ¢LT 49¢ L2¢ LTZ ¢6T 421 &L 0L 89 0b 6¢
ire 291 0Tc €6& 6Tz ZLT BT TLZ 12z 61%  ¢62 Y€€ 98y LeZ 800G 2#6 ¥8T L6 ewT  oTZ 9.2 #zZZ €vl 2ol 4Tlc $¢
TTe ¢Tz Lg  LBT Te€ 1Gv 6%v 6T¢ 88T 227 LT Teg Lec 9¢T LaT OTT OTT ¢6¥% 22h ¢Z6¢ wew L06  gyhw  26L €16 Le
TgL  LE9 Te® 006 9L§ 6.6 TOTT 456 T90T €TTT 648 9L €9¢ 6TL 919 Le9 906 988 8621 90T 606 Lof Llg 606 60¢ 9¢ @
19¢  9€% TLv 60C THZ LZe 6¢l 6G¢ LeT sE¢ 262 8Tv 162 oTZ ZLT 0S¥ Jes 992 &9T 18T TLZ 80§ 1% wwvvy Q0¥ 4
9oy 08¢ €L¢ B6Z 042 9¢Z 8vc 262 wEg 6T¢ HE€9 He& 96T &6 998 6%Z LGE L8h  T6g EHv  9Ew  ¢HS  G&L BL9  £19 e
cEw OvL 8¢l ¢9L 84l T0L GiL gs8 wgy TZT €9 ZET 991 ZE¢ G£G €9y £8Z €€l 6§ Z0T 60T ¢TI 08¢ LTI9 €26 174
Tee  60% 19T L8T 092 TLY 0SSt #6€ 262 6€€ L9¢ 09T 12% GI9 %0z 8IT €21 2Lt ¢0¢ LeT obnw  Teg 666 Hyw  9¢9 ge
Ly 68S  8¢T 0LZ 656 094 €9 95k ¥9G¢ €L Op€ g€z €6€ ot TIT ¢&  LBT €y €vg 918 W06 wZ6 68 GBE  L&f 12 'a
Teg 9T6 69% evZ 98T IyZ €€2 TIZ ehT 091 DIT €91 O%c 2z¢ wiT 882 #0c &¥E Lw¢ wiv OBZ 92T LET H0E 8%9 o¢
49¢  OYL 6gl tTZ wgY 46T OTY% zZl¢ LOE +#1Z €6 S8 982 9Gg g Z¥E SRE 899 9719 Qle #IT 4dg Tee 29¢ Lid 61
£ce €€ LTZ LZT ¢6 TTT 99T 94T e®T GTZ LET L&6c Lh9 §Tv gwz 46T 91¢ Zgv  pEg 96 %UT 8% qH gl GUl¢ 8l
82¢  L6T LTIT T6 602 962 SLlz ove 09T +0T 66T +weT 1w €06 »Tv LE€T S2T Lv1 8HZ 1T¥y GGE TTZ 921 9%¢  LEc L1
BET &LZ TLZ w0Z LZ2 002 8ST 2¢l %9 %% 09 6T T%Z €€Z gE€T 90T L9 99 06 6wl #OT 10T 66 ¢y 89 gl o
€EZz 09 g9 g% ¢ . TL  LOT 9LT 02z T6T 402 90Z 662 9wz 1TZ TO0% Tev 96E 6¢h 064 LT ZZT Qe¢ ZEe 98¢ ST ©
w11 L6l T#T 22T 0&T BOT 8Te 9.2 8TIT %9 96 B H% kG z6 921 (¥ €6 9% iy LE ¢zT 127 211 901 ¥ ©
66T 8%T 69T g¥T G0T 96 9. 2L  +9 Z9T k92 g€z T6T +wT €62 €8¢ Og QL €9 &L 9% #9 61T w1 GeT €T B
#I2 &L wb  HTT wlg 60% ¥y Zch . g0¢ SAT alT €82 2I6 699 gue 69T 6% Lg 94 ¥TT 2% SL 6% €L 99 A
62 66 T 28 9L 9L 9L g8 66 ZTT 802 €61 S$TI €¢% %16 €89 Tee iTv €¢d 162 €29 819 99& GLe Hwe [
EGZ TR ©5¢ W8T 20T ELT 9%¢ 0L9 966G ZvZ 607 weh €4z wIv LLC Gegv 68T 04 €% 2y w& 04T svl 06 66 ot
+0T ¢8 €8 ;8 €0l ®& 9¢ 19 TL Ll LG  I9 Ly 19 6] L €9 g6  T2T 6t ©Q% €8T 98 69 99 6 B
092 2L 68 L6 L9T 2L €lg %oy ¢2v 8gZ 92z lLlg? tlL e gl T¢ 9 #8917 H6g G569 (I% UTG g£E¢  €EE e¥e 8

LZe 98y B¢y 4Z6 €e® 0Cc €99 TTy bEE LT 62T 2Tz wLZ g6z Tiz w6l €% 19 Oye 06 12T T€T  LIw €TL 916 L

9z¢ 99y sb¢c 8H¥Y  L9¢ 812 €6T 84T w87 99T 997 90f 123 96F Teg € EE€T w6 2§ 6% 99  H6 0T &GT  BEE 9

D&%  €l¢ Gge T6T 92T 88 06 TITT 9L 66 g9 g0 922 LO0% 09 ¢vl €8S 9¢¢ 298 606 TTZT THIT GSTT TZ9 684 S @
£6€ €94 907 228 1By TTE 4By 98¢ 26z 66  tlz 1€9 6%y 6T GBT LLT €LT €6 1L 6LT . T6L GeE lEy €92 TLT 1

6z 6L - B9 g8  wzZ 9T9 BeE 292 Z91 02T 6¢ I WIT QTe KOS gOb Liw ziz OeT LT €0 +%c T0Z ¢Tw  8yY €

F4°3¢ 2¢? Tvz 0% 9%y 636 9211 6117 ble €¢OT 998 ZTI€ 6%¢ ©iL #9717 289 26¢ 969 9€9 +02 16T GoT 16 80T i 2 a
66T  TIST 6¢2 L 99 ¢6 S¢ TL €L L9 98 oy €9 26 T4T 49 TsE L8T T9e ewZ Ted gIg 60T 69 6L [
Adlvd €2 F44 TE 0zg 67 8T LT 9T aT T €T 21 [T oT 3 g L 9 S ¥ € 2 T Q 3Lva o

CANME 8LET SADIGNT  ATEAOH  3Y



80T- Zi-
[ T
lg= 6Zg=
99= 9Tw
hg- OTT=
Glw 1T~
62- e
= 0t~
€T~ 8T~
Li- A
¥ )

Z= ]

T L

4 14

- 0
TE=- 1T~
g1- Z
o= gOT=
&y= #9T=
= €
€T~ ¢1=
Ly= 9T=-
T i~
LT 2=
9¢= T
94= (A
9¢- 9=
9~ 96~
goy= LA
£6- &=
gr2- 0ZT=
0E=- Ly
[ 9

= 0
Alvq €2

L=
Le=

[
#8=
ce-
€T~

1T

o
611~
gLT-
L1t

6Lz~
ST
L=

44

9g-
Lé=
ge-
H=

£5=
£0Z~
3%
o€-
¥e=

QI
CTE-
TAL
62-
98-

T2

gg=-

erT=
12-
et
0%
E-

T=

=

8T~

Le=
66-

Cm
mql
96-
96=
m.l
0T~
LyT=
‘Hl
91~

T61-
By~
8¢~
g5

024

T¢T= wi1-
G- ZT~
Ey= 09-
LTE~ 26T=
61- 8l-
ZT 9=
BL=  HET-
[ %
CT= Y=
2= 09~
3 6=
€T=  9%=
€ €

T 0

T Q

g= 8¢g-
T o
£G= E9=
90T~ 08~
g= 6=
= 1T~
#Z= L=
L= &1=-
1= 91-
4 ge=
69~ BeT-
g=- 9

0 0
59T~ L6T-
(4 4
Lgy= €59~
ZZ= O%-
Lo 8=

9 8

6T 8T

ABYONYT

THd=
81-

6=

4#02-
6T=

291~

Gg1=
6=
-

06=
1%
§9-
g
0

G
CLE
#

-
we=

e
Lg=
OI

61~
9T-

ZL=
9Zg-
0
og-
6=

=
Li8=-
T¢-
BT=
89~

LT

65T= 14T~
0 0
2l=  69-
L9= €=
5= 0g-
90T= ¢RZ~
GEZ= 9¢-
6T= 13iw-
9= €Em=
0= ¢G=
¥07= 2
= 4
L [
Z €
g¢=  Qg=
£€g~ Q%=
8 (e
0T~ 92-
8= GLT=
T- o~
9= gm
6E= Clw
TT= &=
To= TE=
€8T= Tel-
LTT=- Lg=-
2ei= Zg1=-
toT- #Te-
the 9Z-=
9= 9T~
ghg= HOS-
CG=  HCT~
ZTm 9w
9y=  g=
9t et
gL6T

zo0z-

1l~-

€0T-
e~
SH6-

6=
8-

1 3%
ge
e
1T
9

g1-
?IT=
wl'

ig=
E1T A

Z=
0T~
ToT-
ml
29-

L=
[4: 0
LET-
69=
6T-

Zt-
&04=
1T~
9

0

T

§9T=

Lb=
T1=-
#0¢~

uﬁl

€i=
ot

17 -

C=
#8=
q=

tge-

1=
69~
G-
1=

Og-
A
G-
19=
L1-

-

€06~
Q6=

€T

0l=
G
1i-

A
ZT=
ce-
ml
§9-

Ol
b4
o€~
=
Zl-
€1
162
6T-
.qlt

A

211
LT=

(4%

o=
0gT=-
1Z-

@I-
Gt

L=
[

LG
81~
[

Lg=

[
[
L=
g
B

GgE-
2T-
97~=

11

99T= 6TT=
0T~ ¢~
LE=  LE-
9 44
9Tg= Q9h=
Gge- 64=
9= Lg-
T- L
#h= 001~
wZ= gl-
%4 Ly

0 t

0 1I-
0 L

8 6T
te=  go-
b= 9z
L= 6~

€ £
LA

9= 8=
80T~ 2T=
b 9=
6= ¢T

g ®9-
Lg= 9€-
T 144
gg~ T9=
- 9

G- T
zseg= 001-
0 0

0 0

9 6T
ot 6

0%~
G-

L=

=
LET-
1=
@ll

Ly=
T

9T=-

%1
9e-
Le
Gu
o1

L1-
he=
0'
€T
Ql
T6T-

ze
Sh=

L6~

L

-
L=

9T=

L=
0ge-
vl
21~

Cw~

e~
81

-

T~

bg
31-
Nl

gc~
8-
trm
6T

L
0e-
€T
mul
Lt

=
0gT=
.ﬁl
€T

0

91-

66-
G-

1T=-

[
T
1€
6e-

9E=

6=
Lg=

Th=
=

01=
69

=
LT=
11~
6<
L

6= T9-
T 9
g- 07~
2% Le -
ue- ¢
He LA
£ 0
B= L1
L= ue
gr=
1 1T
4 [
% 6
S 4
6 ¢
L 14 91
= II-
gl=- Oy-
9 ]
Z 0
eI~ I-
ge= &I~
< k4
¢G- &T-
6= TO0T-
1= <z-
sT 1e
6=~ fr=
ae cE~
§g9=  CH 1=
ZT= 49=
0 €
1 %] 0¢
LT o1
g #
SADICNI

Gi~ E&= &L=

T 1- Z

GZ= Q= LZ=-

%= S¢~  Th=

oT B L=

14 8L b=

9- gt~ 01~
T4 67 ¢T

O% 19 94

9 G 1]

1T ¢l 01

L S 4

L 9 g

i ¥ 4

T = [
g~ §9=~ G4=

Cl= 26T~ (2T~

LE= Hg= LL=

g L 9

r= 1= 0

g gZ=- 0

28= 61~ 1=

Gt= Ol=~ &=

14 g T

LIT=- %0T- 82T=-

Gg= Ll= 6=

%7 ¢l= Lgl=-

T |4 1T

gyT= 9Tg= %-

96~ Zgl- 64E-

Qe whl~ 66

] L] 1T

29~ ¢h= bE
gl Tt ¢T

€ ¢ T
A1800H OV

6Ti-

=
0gl~
6=
T=-
G-

69T~

— e

[
cET-
651~

Lanit o VN F TN+ PR il
1

oge-
it-
§9=
LT=

Tet-
0g=

=
a1

NYdW Q6
NY AW B¢

NV Wi

Te
e ¢
6¢
gé
Le
9¢

GZ
wc
£ 9
Z¢ 9
e o

0é
61
gl
Ll
91

L R RGN il o

31vg Ju



8- 06~ Lg= Tb6b= HET~ Z8= LyT- 69T- TLT- gOT= 88= GFT= €¢T= g8~ 41T= 9¢~ €g= T&- 2- §5=  w9= pe~ 19~ £9- GE= NYdv GG

G= T ¢ € T G 9Z= 9T= £2= 6=  H= 9= g=  E£Tx T~ Q2= 4= Z= € L o L 4 €= [g=- NYdW 0%
gz~ 92~ 9Z= 92+ ¥E~ €= €9= gl= 99+ C= BE= 9h= 9h= GE~ H2= IT= Ze 7= 0 €= = TT- L= TT- Tz- NV IW
#eT= 41 €2=- 66T- 6L~ %OI- 2€€- 8Tc= €€2= I8= €= TTT= #BT~ L8= €I~ &L= L9= +whl= ¢2T= 0CT= o= Gol= L¥= & £ g€
T#T- &&= By1= €T~ LET~ 6€T= OTT~ 6¥%E¢= €0%= 992~ ZET- chy~ [6Z- 8T~ O6- zb=- £=  6H= L~ TGT= e~ ¢ LOT= ¢hT= 8g= tg @
6G=  H9= ZZ= T9~ gnT- L9T- 6TZ- L9T- Lb6= €H= GGT= 02T~ €l- G 6= 0e~-  id T2 0% ¢ 4= 2T~ e8l~ #g= Lle- 9¢ @
T- TT- 1¢=- g2Z- L LT 8 9 4 9 P r4 Of= - ble 8T 7T L3 Z1 wE= G w1 T 6 % ¥ s¢

eT= T -0 4 g g- 9T~ dE= 9b= Tg~ TZ= ZE= HG~ §Ge B= G- Te=- wl- ¢ 1- L= ¢ G- he- v¢ 0
0 gé= LTI~ g= O0T- 0 €= ¢~ T= ¢ 6T G- T~ L & TT 01 9 T & 6 g1 GY € &
Vit ¥91- 28- €6~ € 6T L= 96= T8= 46~ (¥« ¢g= HQ0T= gi= 4= G~ €= 0 6=  £h~ L6= 69= Z0T= b6=- 1I#- g¢ - @
i2= = 6%~ 6t= 8- QO0T~ #G= ZiLT~ Z8T= Hi= GE- TE~ #I- €Z- § 8 €T L LA ze £t 0T 9¢ 1< 0¢ T¢

€T~ %T= g9- 2 6l= T2= 09= 2iL=- #Z= 0 ¥ €=  09T= &9 42 TT 0¢ Té~ 0%~ ¢ G- E=- b 1€ #Z 4

gé=  Tee €= ¢ 02 ¢T~ Lb= TG~ 66~ ¥G= 2= Gv= Ly- g9i- L £t= 0 - we  TZ wE~ YL- kG- 9v= 9I- 61

Tt=  0e= L1~ 9= zl- Zg=- gb- G9= ¢€- ¢~ 6§- 86= &~ - 0T &2 6T 2e~ LT g% el Ty 68 0 9= gi |
6= 8= 62~ gh=- G¢- ¢l- b= TZ- 6Z- Zh=- 6= £- L= 1 T~ T~ T- 0 L %€ wg &= - ¢ T L1

Lz- Zh= ¢€€= Gg= LI= O 99= Ll= #le §9= fG= €G= G¥ G- gt~ L= 2 01 ¢t ¢e o} T~ 6T i s 97

Iv= 0Te Ti= 3II~ 6T« [T« 8%~ GZ- €= pE~ €h= 9= LI~ g€¢c- doh~ 0L 021=- ¢9 S9T 9% 02 L= 2E=  HE=  Hy- ¢t a _
Tt~ 9= 2T g~ 9= 4 gT- &66= 08- L1= T €= ZE€s ¢r=- 0l fg= T 44 8T 8T z1 0 6 Go= ¢TI 2T

9= G 1T 1 ¥g= 8= - hg= gé= ¢Zg~ 8T~ O ] - ¢ m 0 %4 0% 0« &€ 2¢ .9¢= 09~ T¢ e €1

01- %€ F4 vi= #e By= Qb= HLl= ¢G= € 9 g 6 ot 9T L1= 29= 9 It ot & L € T 2T

= 4 9 ot 6 9 L gl= TG~ g= + 1 0 FA €= €6~ GT= 9= 8 #1 G < € - L= 1T
8= L ] g €=  Th= (B- H= T g 4 G g= 9= ZT- 6= 6= s 17T § T [ ] 8¢~ 9@~ 0T ©
Ot=- G~ GH= 08~ 6)= §g= 6= T 02~ QO%= 90~ &L= &ZT=~ TOT~ Té= @9~ TIT~ @i~ B= 8T 6T T4 €T 2€=- "9 6

€1~ Te™ 9= €T 9~ 2Zg= 6T~ 09~ L¢= Li= BTI~ €0T= € L 9Z 9% 6¢ €1 = Lz ¢ gt zr # 0T 8

0 0e %z ¢ ¥ = 9%= ¢¥= 92~ O T- 0 €T 6 0 - 0 T € 9 0T 9T HT ¢l O LB
€1- g 9 TE g€ 42T= 2€= G9= 4T= €0T= gL~ ST~ Tw < 1T T 61 T gh- €= 9 T 1% 9¢ Zt 9

9¢= 6 €T~ 8¢ 9 ¢91= 911= g¥=- €0T- €91= ¥g= Z8- 9L=- 8= €= ob= T¢ L€ %T= 09= hl= 2HT~ OTT= 2T~ T g

€= £T ST % Le= 0 £~ g g w2~ 8T 0 € 0t ot g 2 ¢ #l= T€=- ¥ 14 s GG~ 6£9- 7

rA e8= 02- 9&- ilg- &2 9Z~ g6= WP~ GHT~ b= Ze GL= Zhe Y- - LT 22 TT= 6T~ g~ Q€= ¥%E 11~ #01I- €

ST~ L6&= a0T= 8L= & 01 &= 9= 0 T z aT 8 gg= T2= HT 0L 02 6 L= l¢= ¢ i T4 9T1- F4

ge- LGT= 9¢=- 0T LT 0€~ H%T- TH#TI=- 0¢- &I Lz= 22= 06= 21=- 1= T- (¥4 1€ L L 14 $T= &= g 17 Zii- T
Alva €2 zz T2 0z 6T 8T LT 9t ST #T €T ZT IT 0T & 8 L 9 G v € Z T ¢ IiVvQ g

AdVYNYE3d  gLeT SADIANT  ATMNCH Qv



Si- 69
y=  yl-
vg-  €z-
2z= 0
2g- 1=
o= 62-
Og= ¥
¢TI~ gte-
Eh= b=
Y 12
9- 10l
62~ 0
wg- &=
1T- 9-
y- 81-
2y g
Li=  €2le
9= 0
Ty=  9TI-
£g=  Lm
cT- 0T
12 L

v €
0e- ¢~
€v= 0
gr= ¢
L= 6=
1e- 1
ST- ¥
sT- 0

T o
bh~- LE=
le= €=
96-  99-
AT1¥a €2

Se-

61

vz~
yE-
o=

101~
&7

6T
1e

Sv1-
T=-

$T-
81~
601~

ﬂl

ge-

9=
ge-
M.I.
at
#1

1<
a7

8ET~

Lo~

LOT= e02-
9 CTI=
e~ 9g=
B= L

9 T
- T

[ 1=
9¢= L=
99T= ¢Q€-
g7 oT

0 11-
11T ot
06=- Lg-
T 19
cE= 9

11T g=
8T 9
BOZ= €LT~-
QT= bg=
TOT- €6=-
L2 9L-
96~ 6HB-
I~ g=

L T
ZE= =
86T~ ¢gOT~-
L6Z= TEg-
é=- 0

] 1T
ot 1

0 1=
6h= G-
gl~ T9T=-
ge= H0g-
0e 6T

Tel~
QT=~

6E=

9=
0T-
Lt
Ze-
Zge-
c8Z-

ge-
oL=

G-
M
=
8

19=
G-
It=-
0g~

8c-
Te=
[

Te=-
ml

BGT~
FAL
L T=

g1

LOT~
11~

ge=

TL=-
Eu=
te=
XA
L1T-
e T~

'y
Q9=
L9=
HT=-

(4%
0%~
€y-

Mul
1T
4
I~
08~

TS~
Bc~
8T
Ti=-
[
ehr=
1=
Q9=
9=
eLT~

LT

HOHYW

68=
97~

9tr=

€0T=-
CE=
THT=-
G-
erI-
LS

0

L
-
ETwm
G-

m.l

e6=
95=
Ot T=
i-

L=
gTl=-
2
-
0=

ET=
£g~
47

G-
9¢ -~

9g=
T~
00T~
20T~
9TT~-

9T

79T=
€=

19~

6=
OT-
9=
LaT-
LT A
¥ A

Ta-

-

€6=
€T~
ge2-
€g-

66~
L1~

1=
Ge-

Tw=
La-
Te
€l=-
et~

LT=-
Cm
Ch=
69=
Lez=

Gr

8161

A
9T~

gL=

9g-
Otr=
T9~
652~
Te2-
9§~

.

30T~
Q-
€T-

(4%

GI1-
zel-
6¢T=
SET=

0T
€T=
69=
QI
GE=

LeT=
G-
21
€01~
vE-
e
€g-
292-

#T

101~
12—

%9=

cé=-
L9T~-
9c-
667T=
gg=
8l-

ﬂ'

XA
72-
N'

By~
Q8=
Lil=
TeI=
He=

agT=
g=

021~
TT=

9B~
T=

G9=
We=
(6=

€1

04~-
Zz2-

€h=

0g-
Oe=-
99~
ic=
HTT~
61

-

EeT=
Le

TE-
LyT=-
eet-
GTT-
0¢=

[
9t~

Qc~
[-

ceT~
3%

R A
8=

-
Hl
6gT=
ey
0 -

2T

1e-

el=
G-
L=

404
Le
et

-
10T
Ae=
_-_ll

LT=

cl=
[

-
29-

Le=
€T
62
\l.l
26~

TG=
Te~

Le=
=

ﬂwll
6l=
9T
T6-=

65 =
-

he=

HI
Ls-
QLT~
99-
6ET~
T

H.I

G-
ge=

lnt
LT
Le
[¢1%

Tl

6=
z-
ge=

Li=
co-

o|
01~
¢T-
Te=
GBT-

B

99=-
=
90T
6%-

7T

Lg=
T1l-
Q1=

<ot

9e-

6aT
1=

0g9=-

BT~

-
Te=
O%=

991
Ta

-
el
T
|4

=
we=
6l=
6=

w1

=
0y=-
01-

1€-

Ge-
ge-
=
ol.

1€
Q8-

1-
11~

0T=-

aL-
y9=

FG=-
Ly

Zh-
Ly
5T

w1

G=
6¢-

61
9=
Ge=
=
£=

te=-
ig=

—~ca o &
—

K]

L= 3= Ly= ¢l- LL-

Z < L < [

6= Td= 9¢=- wE~ L~

z 6= ) J U

963~ Lb- gg= Ti= Z0T=

0T= 71g= gg=- 6~ 8]

L Otr= 8T~ Z1I- ¢

To=  U%= gOT= 8%= H4I=

Le Te g¢T= ¢971= 9

4 i T [ 9

1= L) g= [ =

%= 4T 4] g6~ Gb-

E= € (44 [ eT

64 9= G- el adé-

) 3} L LT 0

9 G6= GeT~ 9¢- gh=

1€ ki 9T~ yvyg= del=~

gUT= Of= (gl= €w= 0T~

Y= LyT= 10T~ &= e

gn= 95T~ @ 071 2T~

1= % L= e%= ¢~

T9= 4= 0 < c=

0 T 4] 4 1

[ o= TT= #Hd= 9=

0 G- g1~ ¢i=- 8-

O~ gi= gIT= w6~ gw-

8 8 9 L L

GG~ & L # 4

4 ¢ T [ &=

+ G 4 T Y

L < 9 1T 1T

1e [ 34 4 3 Te¢1=

8= 9 0¢ Bl Lg=

44 T+ 68=  4ZT- G6-

G ¥ € é T
SIDIUNT  AT"NOH OV

¢9=
7

LI=

C=
6e=
[4
di=
EAR A
ed

9
G
St
9
b=

LTL=

la-
10

¢t
ce=
2~
Cm

NY3In G
N SH NG

NY 3w

le
0e
6¢
(14
L¢ 4
9¢ d

4¢ ®
vé @
€
14
(4

Q<
6l
gl
L @
91

ALVa QY



CL L €6~ 9¢- g¥- ¢g- 8Z- O~ 98- [Li- 0€- e TI- Li- yl=  0%= L 6 1 Teg= 99= Z¢= LG= €2~ 69— G- NY3W (g

i- T 4 6 T s cT- TI=- &= €= g= 0TI~ €- 9= & 4 0 €= g- I1- &= 0 ¢ . 0 NY 3 96
HhZ= 9= 92~ 9~ HT- EZZ- HT= ¢h= (2= 7= 8T~ 2ZZ= <E- §I- 91~ L= T= 0T= 0T~ L&= €2= L2~ LE= 9= L= NY di
6= 62 ¢ TL 06 29 Lv . GT  4Zg= €z~ TL- he= L6= $L HII= O z TZ= € 6g z pe= 1T=- Tg- L= Ot d
9 - 0 Te 1 & T9= gh= 9= 6=  HI= Ly= &= b 0z v 9% 2¢ ¢T3 82 9 Z¢ 02 6Tl 6¢  ©
= ¢ ¢ 13 0t L B= Q€= 0= &T= #HZ= ZI=- 1I#= 9 2T Z- gl- L Fd 4 i% ST 0%= ER- b= Be
¢Z-  wl= 02 €2 Lz LI= Ty= ¢g9= 2Zb= 2T~ #G= 4G~ Hi= Hh= 9= g¢# €1 T 9 gl= Tg=  1Z= Lg= LG=  w4- Le
Ot~ 0= €€~ 0 113 4 99= LET- 0 - LT 1T=- T4= &€= O 4 1e Z1T= 06= €6=- ZT~ 99~ 0391~ 6= 1= 3€= g¢
Bz~ L= 52 9 LT T2 - ¢¢= 1e= T 9=  0Z- lE€- #9- & T~ »TT~ Ti- €2 6 ¢T= 2¢- T Z6T- #é=  GH~ 174
€=  h8T- 9€ 9 6T %2  €T= #&l= TET= Zgl- wl- 29~ 26~ ¢1T- TT €T &i- 11 gy~ w- €=~ TLT= 22~ &[0~ Twl- %& d
GZ= LE= Hg= T O L= T= 0 98- GLT~ €= £1 €= 2T- Z- Q8- BZ~ € 4 ¢T- ¢1 Zg= UnT= v= € €¢

G- 6= T9~ 68~ #T 6 8 T 6= 0 g €7 2t w1 4 L $ € ¢T- &=  wg= #I=- 1= 2I= ¥ ez
42~ Z Z- L= 96= €= &T- g- &¢I~ Z- €6= Ti- wE= & Z 1 9T~ GC= GZ= L=  Me= g=  Of= gE- H#IT- 1<
Qg= w9~ el= €T- 9T= ¢T= &~ 02 HE= T¢g- 82« 2 - ¥1T 0 ¢I= 07~ 6l- LT B 2T €2 LT- 8l= 22T~ Gé¢= 0<

B~ of LT l& 9= BGT= b6%= &= Ch= HH- 6=  p2i= GE= O It €0  #%71=- & 28 ¢y ug oL 09 71 LT 61
£ET- 6T 92 €T 9T~ LT- 6T 8 = 0T LT 6T &= ¢ 6 9T- £f~ ¢ 6T~ 4¥= 98- 0LT= wl- 90 &I gl

€= 9 T 6 Tt 2T st 1T I s € 0 L= gt= T- 1= T~ (%= vI- gZ- 9 ot o1 e-  E2- LT ®
6T= 6 - 0 gT= L= &T= H= 2= Z= 6= = €=  pl- Ut~ §I- ¢ €= ST~ % 6=  YE= GCw Y9= U= yy= 97
gz~ 2 #T  TI- €T L L= pT= 2T  0€= L= O0&= 6= €T= %1 T= - 66- #9=- ¢ 6 9g¢~ gl e~ 1el- Lyi- Sl
Lg= €% H€ TT  tF=~ Hgw 2= €¢  gi= 6=  TT- Z¢~ 9LT= 22¢- TTT- %€ 3¢ . 91 = L™ wE= O[~ ¥ Lg= 48y~ 7t
o= LTH= €HT= gi= 6g= 60T= ZT= ¢6= O0€T= TL~ TH= L=~ 9T- 9T & cE= wZ= €T 6T ¢ 092 6T= 6b= L Lz= €T
gz~ T4~ 9g- ¢I= ge- O el G9=  H¥= w¢= T T T JZ= ThG= 9=  Z9= €6~ 6 €10 L 9z  Ty- ey~ 2T
of= gh- 09= 0Ol=- € 6= 8~ ¢ %e= €~ L= 8 G ¢T= 6= GE~ w®h= 9= & Gel= T¢~ . G- &~  61T= 89~ It 4
v % 8= #& L9 §§ 0 9L- 9€ G- BT BT 2= O - &= ¢~ ¢ ¢=  ZI- b 1 e € o ot

g= Z € Z g= 0 9t L c 0 o1~ I~ < I=  €l= ¢Z- ¥ LT~ €T= gT= Z¢=~ - §I- T ¢ 6 B
9= L £ €T 0Z2=- G- 0%~ 82— &= Z L= - 0 Q- - 7 2= Z= G- €1= gI=- L~ G- Z o ] 5]
o= € G 7 1 €T € 9~ ¢T=- GI-. 0 Z- 4= 1= 8= = = T~ Tt= €T- o1~ pl- 8- T 2= L V]
2= T ¥ € IT € 6 2~  8T- TT= #T- af= 06~ &= ¢i- 8¢= 4t- €= 4] 9= Ti- #I- ¢I- T=- &= 9

Te-= 8= €=  4i= Te- GI- 8 0 GT=- 6= & € 0 0 2z L= L= gZ~ 1T~ 06&T= 2Ti- gT O Ol LgT= 4

S6= ZTC= GOT= 6ZZ- THZ~ #9T= 92¢~ 0Z¢~ &2 G € ¢ 0 9 ¢l e w9 £9 y6=  GGT= UP- 62= HL= ¥GI=- LOE= 7 g
9i~  QZT- O4Z= €G&= H6T= 86T~ Z1T= TTT- 8T- Th= LZ= 68= L{T= y= L¢~ Q€= 9T 9L=- &2T=- $91- 28 9 01 m 62 €

gz~ €2 Q0%9= 6= &Y= 40T~ 9= L= 1 4] 2= 29 b= £H= I~ ¥ €= T~ 8~ ¢~ 2 09= b= 1 25~ Z

GE~ 9T= €T  4i~ ¥ € €= 6= 0¢= T = £~ 9= p= 6= 2z € LE- §£G6= 9l= 8¢T= ;9= 0TT- 0I= ¢ T
Allva €2z T2 02 6T 4T LT 9T  &T 4T €T 2T 1T ot S g L g G ) € 2 T 0 Aivd Qo

JlEdy  BLAT SADLANT  ATHNOH OV



Ceg=

€g-
<t

Qo
G-
€2

13 %

0T=
-

1=
99=
oT=-
m-l

01=

1~

21~
vET-
21T
T

Allvd

Qg-
2=

7L
ot
€
6~
T~

ch=
Le-
95-
y¥1
€0d=-

6T
17

-
zT
7T
T
Ge
He-
6=
._..l
94
6T
z-
cle-
L~
6 -
€Z

ev T~
=

6C=

6=
124

Hl.

he-
T4
12
a1~
#0Z-

w1

.ﬂ_l
LT

ST
ot
s
8e
Li-

6T=-
G2
€€
Lz
£e=

1¢-
gee-
T6=
Tac~-

A4

0g-
Y.

L 2%

61
aé
B
£T
5T
€T

9¢

2¢-
59-
09¢-

oe
.Hl

4
4T
91
(124
a7
21
#e

a1-
w1
ot
1T
qi-

L%=
_.ul
g9T~
Lg-
9€=

174

kA"

134
114
G
Eh=-

1T~
8T
%1
81T~
Gge-

0Z

0¢
&7
44

14
129

ml
(A

6T~
Ls
LT
ml

=
i-

0é

WT-

9T
ST~
€T
oz-

Q-
nwl
0z
e
LIT-
Tt
Li=
[
9

1¢
(44

T0T-

Q=
4=
9¢
9=
i1-

6=
T
HLT=
s0T
&1

Ge~

gl-

TT
ﬁl
LT
ghr=

Ze=

b=
2T
hg=
z8-
¢

9TT™~

3T
6e=

GG-
gy=
&L~
ST

8T

Ip-
€T~

L=
£tr=
EqT-
LZ=
62

g1

Lg-
(24

8
QT=
e

gZ-
o=

v~
s¢-
9=
19-
N

8T
8
Tg=
0

<

5
99-
-
8¢~
ge-

61~
m|
8T~-
0T~
6=

0T-
O9-
H9z=
%Z=
3T

LT

AVK

9= G6=
U= 9T«
e~ £g=
] 4
1= b=
g= BI-~
0 =
Qb= €=
9t~ TG-
0= T~
€6~ ZZ-
01 e~
LZl= #9=-
LZ Yy
LT 1T
9T- 0=
9é=- 0T
9T~ L=
a- 9=
€= G-
SY=-  6¢=-
W= G-
6= 0¢=-
9 0tl=-
He=  9¢=
0g F9=
9=  TH+-
1 G-
el=- ¢1-
ET= L=
Gl 9y-
Jeé= avz
go=- Hg-
9 GE-
g1 QT
81671

FAN
=

€l=
L1~
6G=
1%

g~
€1~
62=

e
we-
hEg=
TO0T~
TE=

[
902~
26=
gz-

L=
6~
811-
L0T-
6L~

%1

Thi=

£9-

e€l=
9r
\ul
cE-

69=

AL
89T
0~
26-
LT

ET
Nll
oT=
3=
LE-

Lz
g
LT~
96=
=

4T~
HOg=
0eT-
¢

L

m.ul
G9T=
£9=
H0Z=
HOH=

€1

§0T-

-

4c
Te
g=
gir=
Tt
€0T-

It
06
LT
6T
0Z=
G4 =
4T
LT~
76~
AL
Glm
9¢T=
Bt=-
@l
L1-
€07~
6=
zet-
86T~
T

L6

al=
g€
e
Lty=

Lé=

#T

Ii=

L

2e
ZZ=
g=

=
LI A
og=

L=

pT-
£01-
69T~
9¢=-
£

T

6T=
3lz~-
T9T=-
G8Z=
b

01

wg=

G-

G~
6%

9¢
.ﬁ..l
9t

ZL-

2=
g

9t~
uT-

2é=
£9-
el
gge=-
697

PEE
dY-

LT
vl
oT=-

oL -
Ti¢=
iy
Tu

g9~
B

-
gET
QT

6T~

ST~
6T1=
#0[=
L%
€t

€eT-
4'

6=

LZ
gt

dg~
b=

9Z-
Li-
Jm
4%

Lé
ZT1T=
ml

G-
¢c
-
Of=~
GY=

&1~
0
=

L1=

€1-
08¢-
b=
GHg-
96

RO
1-

ve

XY
Le
.¢.I
s
13
1~

4

99
ot

LT
£l
L=
.
1T

T1
Te
0%
11
[

T= ¢v=
f

- -

- U

- o=
-

i

-
e
X4

b=
9=
-

- Gy

I= e§i=

- NHI
-
[

- e

- Qe

G= 9H-

- Uzl-
Ut
9t -

V4

SERISULM

9e- L&
be 0
b= [
59 (AN
0z~ 1€~
[4 4
g 0T
gt Z
2= gém
gl= [T
(%4 g
L o1~
TT=
6¢ 9
Z q
o] 4
g¢= 6
- -
b= gl
9l BT~
£T Z
0é 1]
8] e
£90= Cé~
[ ‘=
o] co=
€T~ L1
6= 8]
[¢] 11=-
L= 9=
T28=- LYT
&1~ #i-
Le yT=
#efl 76
€ [4
ATH00H

£g-
i-

QL
-
SE1l-
m,|
aT

€
TL-

6¢
md.l

€T
7l
oT=-

5T~
9G=

[AL

L=
1=

r.'
Thi-

LA
¢f

1

Qv

gi-

ot
ml

ﬁl
6=
I ¥4
4=
B

NY W (S
NYdW B¢

NV 3

T¢
419
¥4
T4
Lé
9¢

S¢
L 24
£¢
¢c
T¢

oé
63
Bl
Ll
9t

a1
7l
Nt
gt
TL

Lo OO

La R L alE- S Tel

3lvg

[a L0 oo

U]

— 35 —



Qg= A
1= 5T
¢T- gl-
€= g=
Tz~ lgT=
0 gT
0 2T
G9- L
1= 8-
#e= 9=
Oy= €8=
Le= 9é=
Og=- 6¢-
0 1T
6= 62~
0 9
<1 €T
# 2¢€
2 €=
- [X4
€= oe
1T~ 9=
£é= 0O

T 69-
= LA
g1~ =
9z= |4
T4 2=
kit Lg=
G- 10g=
9= 6=
0 ¥

4} s
Adivg €¢2

&61- 2¢-
oT g
6T= 6=
4 zT
06g= 88T-
€= F34
6 0
§l= Gli=-
L= oe
0 114
0T=- ¢g-
1T 44
0T= &=
0z LT
ol Y
8T 61
T (A4
£Z ot
[ g
Ge L]
1€ e
1= ¢T-
4 9
5S¢ 6
[t €=
# 0
LT 1¢-
gZ= &5
ch= 87
0L~ 98~
W= 0
Lz le
T Q
2e T¢

(A%

6

18
€T
0T

1%
2€
tB=-
T
9=

T
6t
414
gt
Z1-

11T

GCw
LT

6T
Hl-
LE=
bG-

2
€1-
i-

6z-

Ge

9e-

G-

it
o¢
g€
6T~

0T~
£g-
glg~
=

6T

€=
T1-

gl-

9T
#2
£y
Te-
Te-

m-

Beg=
89~
1=
96-

LI=
k=
9T
et
A

ke

1=
6T

0g
Q=
ST
§6=
4“'

Tt
-
96—

BT

9Z-
g~

ge-

o
le
41
9T

hol-

yE=
0c1-
01~
T9-
9¢-
8-
11-
Z1
4T

€2-
Ot
€1
1i-
1L

g9-
L=

=
gg=
(1A

1i-
FARS
Lg=
¥4
4

LT

anar

9= Ti=
- 11~
LT=- 92=-
L T2=-
& Z-
¢z 6I-
T 8-
97T~ 80T~
LE~ Og-
9g- ¢¢-
26 e
Ob=  0G~
G- G-
¢t~ 12-
4 T
ST ¢1-
T 1=
g Z1
0€~ 0z-
G o
0 Ze-
ye 21
0T L~
6g= LEt=-
¢Tw 6T~
Zg- zz-
gh= €gm
9= LE=
- 9
Qo= T
Le=- €¢-
§T L€~
T -
9T 4T
slaT

81~
0=~
Geg=

9=
gE=
Gl=

Té=
4T

Llg=
GE=-

91-

L=
0€~-
¥T

0Z-
01~
H9-

9Z=

Lw

0T~
6¢-
Zh=
ly=

2=
b=
&~
12T
gT-

LAY

hZ~-
G

4é=

ré
9G6=
3T~
g61~

91~
€8~
B
G-
0=

he-

001-
G-
Hl

€e-
&=
[
iv-

8T
-
Lir=
Leg=
(9=

ehT=
V]

89
Z1-

Gl
G

L=

W=
ae
Lz-

LA

1T

BT=
0=
wg-
LG=-

L=
Si-
L=

ze-

zZ-
[
&Il
06=

2
G'
G
§T=
b=

gh=
Og=
P
&9
H.-

[

-
Nl

¥1=

<s
1
0z
e

QL=

LT

ig-
Gl-
1¢-

29-
6

7Z-
oT-

6T
g=
b=

9e=-
%07

o1~
1i~
5

Q9=

TE=
g9-
Le

at=-

1T

&y

68
1
9z=
£s
e

Ha=-

T
Tt

L
LT
N'
L1
99-

Zg=
T4
T9=-
e
6T

674
%

&4
ol~
Tt
LE
6c-

6T
=
9= .
8¢

og=
LZ=
LT
[
hh=

3

@.l

113
¢l
0¢
%1
TE-

ul=
FI
114
-
el

9T=
BT~-

-

(19

[
$ET

8T
9T~
G-

gl
Te~
as-
bt =
81

Ly=
Z=

[
64~

1-
[
2n=

-
IT-

G-
Te-

[+14
La=
61
».ll

g=-
&=

7i-
Ei=

Ml'
LT
z-
m-

06~

6=

1
Gé=
¢

Ghw 09~
Hl= (1=
Te=- L=
LIT- Q1=
B~ [ YA
7= g€~
11 %9
Tee=- 90T~
L< 4
Té=~ %
&T=- Ti-
BT= 1=
5= Ty=
91 2=
09= 9¢
& [}
$T= £
01 Gl=
8= TZ=
He~ c=
61- 51~
6T~ i
14 Ey=
L= G«
gl~  G¢=
14 GH=
U%9=  £E-
1= T¢=
T8T- ¢0Tw
AT
Q gl
€1 =
[44 Lé
9 g

i-
G

aé-
Te=
9=

m-
9

Tel-

Q=
¢t~
[=

Zi=

yHRE=
bo™

T~
Lt

L

S3IDIONT

Gp= 4=
T~ g
£i= 62-
i¥= 01~
L= 6=
Tl=- 9
we= 81«
4= €=
Zg~ &0OT
g2~ LOT
Te~ 19~
Gb=  Ch=
#I= {6~
T 0
o= Hl-
L= I1-
91 5=
G= L=
(4 9
LT- 42
Zl= ei-
LI w1
=  Tt-
7T~ 02
G 0
#OTI~ LOT
] 0~
9= L=
4.T= 66T
th= L=
[49 gi-
8 U
I 1=
4 [4
ATYNR0H

[

6i=

gl=
Og=
bt=
¢e
Ml.l

be=
6lL-
L9=
Bir=
S

g=-
s
Le-
O¢

LT
9¢

Ol=
A1

N'
L=
[ %4
Ly~

Té~
LE~
eyi-
ml
G-

T

ov

cy=
2h=
c6=
92

e =
oh
Gé=
e

L=
6l=
Ti-
cI=

¢8-

-

L

2T B

OO O
Ll

i 09 Y oy

lvd Qo



FIGURE 4 (on even pages)

Daily graphs of 1.0-min AE indices (AU, AL, AE and
AQO) for January—June 1978. Graphs on very disturbed
days (January 4 and 30, Febryary 15, April 30, May 1,

4 and 9) are reproduced on pages 100 and 101.

FIGURE 5 (on odd pages)

Plots of the contributing stations to the AU (upper
plumes) and AL (lower plumes) indices, where you can
see which station contributes to these indices at every

UT hour.
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FIGURE 6

The H traces of magnetograms from AE(12) stations

in -every month from January to June 1978.
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